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CHEMISTRY

BOOKS - GR BATHLA & SONS CHEMISTRY (HINGLISH)

ALCOHOLS AND ETHERS

Level 1(Q.1 To Q.25)

1. An alkene obtained by the dehydration of an alcohol (A), on ozolysis

gives two molecules of acetaldegyde for ever molecule of alkene. The

alcohol (A) is

A CH;CH,CH,OH

B. CH,CH,OH

C.CH;CH = CHCH,0H

D. CH;CH,CHCH,

|
OH


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_usMre5bXPENO

Answer: D

° Watch Video Solution

2.R - COOH — R — CH,OH. This mode of reductoin of an acid to

alcohol can be effected by:

A.Zn/HCI

B. Na-alcohoi

C. Aluminium isopropoxide and isopropyl alcohol

D. LiAlH,

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_usMre5bXPENO
https://dl.doubtnut.com/l/_x7VScN9IrAsO

3. Find the major product of the following reaction.

H;C OH
%,
s, SOCl,
L] ‘Ah_}
(CH;);N
C 2 3 '\&\\\Cl
(I} &O\\
A ‘
CH; Cl
» Y
B.
H-,C
3 /Cl
(©)
C.
OH
’ , }Cl
Do
D.
Answer: A

| o


https://dl.doubtnut.com/l/_70qQ9DSVYIWs

I & Watch Video Solution

4. What is product of the followin reaction:

W PCC

OH —-0H
{ | —
v’
A.
(b) )\Q\/Ao
B.
OH /‘._.o

e
C.
OH
(d)

Answer: C

| ° Watch Video Solution


https://dl.doubtnut.com/l/_70qQ9DSVYIWs
https://dl.doubtnut.com/l/_UDwFkYRgbcBW

5. Perdict product of the following reaction,

! NaBH
H;C—C—0—C, H -

A.CH; — CHy — OH

B. No reaction
o

||
C.HsC -C —-OH

D. H,C = CH>

Answer: B

° Watch Video Solution

6. 1-propanol and 2-propanol can be best distinguished by:


https://dl.doubtnut.com/l/_UDwFkYRgbcBW
https://dl.doubtnut.com/l/_MPNVpl3UMxfF
https://dl.doubtnut.com/l/_TgJkjfY1urmt

A. oxidation with alkaline K MnO, followed by reaction with Fehling's

solution

B. oxidation with alkaline dichromate followed by reaction with

Fehling's solution

C.oxidation by heating with copper followed by reaction with

Fehling's solution

D. oxidation with alkaline Hy,50, followed by reaction with Fehling's

solution

Answer: C

o Watch Video Solution

7. On heating glycerol with KHSO, /A, a compound is obtained, which

has a bad odour. The compound is:

A. Acrolein


https://dl.doubtnut.com/l/_TgJkjfY1urmt
https://dl.doubtnut.com/l/_C1mFK4Y7pUV2

B. Formic acid

C. Allyl alcohol

D. Methyl isocyanide

Answer: A

° Watch Video Solution

8. A compound X with moleuclar formula C3HgO can be oxidized to a

compoud Y with the molecular formula C3HgOs. X is most likely to be a:

A. primary alcohol

B. secondary alcohol

C. aldehuyde

D. ketone

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_C1mFK4Y7pUV2
https://dl.doubtnut.com/l/_YI212ncb7ke5

9. Identify (Z) in the following series.

P Alc. | KOH (i) HySO4/ (Room temp)
Ethanol -2% (X) s (v) L ' (2)
(#) (H20,Heat)

A. 02 — CH2

B. CH;CH,OH

C.CH; — CH, — O — CH, — CH,

D.CH; — CH, — SOsH

Answer: B

o Watch Video Solution

10. Which one of the following is not the characteristic of alcohols?

A. Their noiling points rise fiarly uniformly with a rise in molecular

weight


https://dl.doubtnut.com/l/_YI212ncb7ke5
https://dl.doubtnut.com/l/_oX2fyRsZqzru
https://dl.doubtnut.com/l/_qTwYXBEozGWP

B. Lower member have a pleasant smell but buring taste nad the
higher ones are odourless and tasteless

C.These are lighter than water

D. Lower member are insoluble in water and organicn solvents bu the

solublity goes on increasing with the rise of molecular weight

Answer: D

o Watch Video Solution

DllHQSO4/Hg+ .
MN.A —— 1 — Methylcyclohexanol. Here A'is:


https://dl.doubtnut.com/l/_qTwYXBEozGWP
https://dl.doubtnut.com/l/_BjFAZVWUseD2

(©)

D.aorb

Answer: D

° Watch Video Solution

12. Find the product of reaction

O
j\/\/\\\ 1. NaBH,, CHyOH
H 2. Dilute H® A

OH

o

@ o~

OH


https://dl.doubtnut.com/l/_BjFAZVWUseD2
https://dl.doubtnut.com/l/_oCvSr6dDatZ1

N
C. (c) HO OH

0
D @ Ho >~ \)\\0‘{

Answer: B

° Watch Video Solution

13. 2-Phenylbutan-2-ol can eb prepared by which of the following

combinations?

A. C6H5COCH3 —|— 02H5MQBT

B. C2H5COCH3 + C6H5MgB’I”

C. 06H5COC2.H5 + CHgMgB’I"

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_oCvSr6dDatZ1
https://dl.doubtnut.com/l/_OzrYIqXnVlqU

14. Predict tha nature of reducing agent in the following reaction.

) H
0O—o
OH
A LiAlH,
B. NaBH,
C.H, /Pt

D.Both a and c

Answer: C

o Watch Video Solution

15. The correct structure for compound B will be:

(1) PBry . CH,CH,CHO
/\l/ b 1o A "

OH

W


https://dl.doubtnut.com/l/_IGVanCw2h4Fb
https://dl.doubtnut.com/l/_KXvoVTh8wH1R

@~ Y “oH

A.
(b) %

B. OH

OH

(c) A)\
C.

OH

Answer: B

° Watch Video Solution

16. Find the product of following reaction,

OH

/[\/ CH;MgBr
—ie
Ether



https://dl.doubtnut.com/l/_KXvoVTh8wH1R
https://dl.doubtnut.com/l/_fszRTwuISUOw

0]
(a)
@A

B.CH,
c.l&
0
@ Brg‘igg/k/
D.
Answer: C

o Watch Video Solution

DryAg20 . .
17.CH3 — CHs — Br ——— Product of reaction is:

A.CHs; — CHy, — OH

B. H,C = CH,
(0]

'
CCH; -C=H

D.CHs — CHs — O — CH> — CHj


https://dl.doubtnut.com/l/_fszRTwuISUOw
https://dl.doubtnut.com/l/_Prhx5Njn5GXU

Answer: D

° Watch Video Solution

18. The product when glyerol reacts PClj is:

A. 1,2,3-trichoropropane

B. glycero monochlorophydrin

C. glycero dichlorohydrin

D. All of these

Answer: A

° Watch Video Solution

KHSOs , LiAlH,
19. Glycerol > A > B

A. Acrolein,allylm, alcohol


https://dl.doubtnut.com/l/_Prhx5Njn5GXU
https://dl.doubtnut.com/l/_ssTau2RNJB8j
https://dl.doubtnut.com/l/_nN8BatvEYGyj

B. glyceryl, sulphate, acrylic acid
C. allyl alcohol, acrolein

D. only acrolein (B is not formed)

Answer: A

° Watch Video Solution

20. Match the following

0 MgBr .
H;C—C—Cl+2 e U Y I D

i
(a) H3C~—C—©

A
(I)H
B. a
OH

et

columns


https://dl.doubtnut.com/l/_nN8BatvEYGyj
https://dl.doubtnut.com/l/_5Hs9EuiB3z2x

OH
(d) H;C—C—H

9

Answer: C

o Watch Video Solution

21. Complete the following

CH,OH
is changed into

A (’L)Cu, 300°C — (’ii)CHgCHQMgB’I’, H;0°
B. (i)CTO3 — (ii)CH3CH2MgB’r', H;0"

C. (i) KMnOy4 — (ii)CH3CHyMgBr, HsO*

D. (i)Na20T207 + H3S504 — (ii)CHgCHzMgBT, H30+

Answer: A

reaction


https://dl.doubtnut.com/l/_5Hs9EuiB3z2x
https://dl.doubtnut.com/l/_hgwZdllzzsP0

° Watch Video Solution

22.

o OH

| |
H3C —C - CHQCH20020H3 — HgC — CH — CH2CHQCH20H

can be effected using:
A.LiAlH, and thenH "
B. NaBH, and thenH "
C. H, / Pt carbon

D. All of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hgwZdllzzsP0
https://dl.doubtnut.com/l/_9TCYPe7mO6bc

23. Complete the following

H;C

LiAIH
>%<T77CH2 A, 4, Ais

H,C O

A CH;CHCH,0H

|
CH,

B. CHsC H;CH,CH,OH

C. No reaction

Answer: C

reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_SHKVFjHLajJE

24.Find the final product of the reaction

SeO
O/\ 2 A ds

(a) O/\
A

OH
(b) \ij\/\
B.
OH
(c) CE\
C. OH
OH
(d) ©/\
D.
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_aNBAYbdE63OX

25. Complete the following reaction

@— O—@ _H, , Predict the correct option :

D. No reaction

Answer: D

o Watch Video Solution

Level 1(Q.26 To Q.50)



https://dl.doubtnut.com/l/_qvUp5DkMqO2I

1. An organic amine (X) was treated with alcoholic potast and another
compound (Y), a foul smelling gas ws formed with formula C¢Hs NC, (Y)
was formed by reacting a compound (Z) with Cl, in the presence of
slaked lime. The compound (2) is:

A.C¢H;NH,

B.CoH,OH

C.CyH,OH

D. CHCl,

Answer: B

o Watch Video Solution

2. An alcohol (A) on hehydraton gives (B), which on ozonalysis gives
acetone and formaldehyde, (B) decolurieses alkanine KM NQO, solution

but (A) does not (A) and (B) are respectively:


https://dl.doubtnut.com/l/_FXm3JymaY2Ss
https://dl.doubtnut.com/l/_QcaGxBbTHfze

A CH3CHQCH20H2OH and CH2CH2CH = CH2

B.CH;CH, — CH — CH, and CH, — CH = CH = CH,
|
OH

C. (CH?,)?’C — OH and (CH3)2C = CH,

D. (CH3)3CHCH2 — OH and (CH;),)ZC = CH,

Answer: C

o Watch Video Solution

3. Complete the following reaction

OH
Conc, H,S0
(5 CAz ‘e X 0%04 > Y : Product ‘Y is :
A.



https://dl.doubtnut.com/l/_QcaGxBbTHfze
https://dl.doubtnut.com/l/_eCySOXClUt5b

OH

(b) wOH
B.
OH

(©) OH

C.
OH

(d)

D OH
Answer: C

° Watch Video Solution

4.1f phenol1 magnesium bromide and acetaldehyde are the reactants, the

product formed after hydrolysis would be:

A. benzyl alcohol


https://dl.doubtnut.com/l/_eCySOXClUt5b
https://dl.doubtnut.com/l/_YwjFhqYF5kO6

B. 1-Phenylethanol

C. 2-Phenylethonal

D. Acetone

Answer: B

o Watch Video Solution

5. Complete the following
1.
C7H,0(X) —H:—"C7H12 ) —-BZ%* C1H40(2) -
(4 3°alcohol) 2 2H00/0H (An jsomer of X)
(0]
03 )J\/\/\n/“
_—
Zn/H,0
(0]

A.CH3;CH;CHyMgBr and hydrolysis
C.(CHs),CHMgBr and acid hydrolysis

D. CH;CHCHCH;, Zn

reaction


https://dl.doubtnut.com/l/_YwjFhqYF5kO6
https://dl.doubtnut.com/l/_A7EeKeneaJYA

Answer: C

° Watch Video Solution

6. Complete the following reactionle.

CHj;

Q‘“

CHj;
CH,
S

CH;

Yol
OH

CH,4
HO CH,
D.

(@
b)

A.

(
B.
C.

Answer: B



https://dl.doubtnut.com/l/_A7EeKeneaJYA
https://dl.doubtnut.com/l/_oC12eFCygnk7

| ¥ vvatcn Viaeo oolution )

7. Complete the following reaction

[25)
H-.O
A - » Me—CH—COOH

Me Bis:

MeMgBr (two equiv.) B

(S}
H;0

A. MGQCHCOMG

B. MGQCH - CM€2
|
OH

C. Me;CHCOCH Me,

D. M€2 CHCHCHM€2
|

OH

Answer: B

o Watch Video Solution

8. Which of the following reactions is possiblw?


https://dl.doubtnut.com/l/_oC12eFCygnk7
https://dl.doubtnut.com/l/_jWgzM6Kj1y7F
https://dl.doubtnut.com/l/_gQvOujkqdwaW

A 06H5OH + HBr — CﬁHg,BT‘ + H2O

B. (CH3),CCl + NaOCH; — (CH;),COCH; + NaCl

OMe
C.© A crtona ot )%/\C‘
.

W( (i) CHgMgBr .
@ Ny " g CHCHACCHY ),

(i) H,0 |

OH

D.

Answer: D

o Watch Video Solution

9.
CHs CH3

HC— C - CH = CHy s HsC— O — CHO— — CHs. Xcanbe
o, o, on

A BH; /THF, HyOy ) OH
B. H;0~
C.Hg(OAc),/NaBH,, NaOH

D. All of these


https://dl.doubtnut.com/l/_gQvOujkqdwaW
https://dl.doubtnut.com/l/_Y6CpoDC0Nd2A

Answer: C

° Watch Video Solution

10. Complete the following reaction
Cl
<7
H;C==CH—C—Cl 2”"?()%A,Ais:
al

A C’C’lgC’|H — CHyCl

OH

B. CClgC]H — CH,OH
ca

C. CClgCIH — CHyCl
cal

D. CClgC}H — C|H2
OH OH

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Y6CpoDC0Nd2A
https://dl.doubtnut.com/l/_bn7kwUpjyEt1

NaBD.
1M.CH;CH = CH, ———"5 Product X, X is:
H,0,/OH

A.CH; C HCH,D
|

OH
B. CH, ‘CHCHzOH
D

C.CH; C HCH;

|
oD

D. None is correct

Answer: B

o Watch Video Solution

12. Identify end product AB and C of the following:

A. CH3;CHCH3in all cases

|
OH

B. CH;CH(OH)CH,D, CH;CH(OD)CH3;CH(OD)CH,D

C.CH3CHCHjsin all cases

|
oD


https://dl.doubtnut.com/l/_VDcs1tGsishO
https://dl.doubtnut.com/l/_ajAClR0bYd0G

D.CH3; C HCH3Din all cases

|
OH

Answer: B

o Watch Video Solution

13. Complete the following
BH, THF ' -
CHCOOH

N —

N

.|

A.(RCH,CH,),, RCH,CH,OH, RCH,CHj, HI

B. (RCH,CH,),, ]‘RCHCH:J,, RCH,CH;, HI
OH

C. (RCH,CHs),, I‘QCH — CH,CH;, RCH,CH;, HI
OH

D. None is correct

Answer: A

reaction

f


https://dl.doubtnut.com/l/_ajAClR0bYd0G
https://dl.doubtnut.com/l/_anXhK9ReTahK

l o Watch Video Solution

CH3 CH3
\ |

14. H;C - C —CH=CHy; - H3C — C —CH — CHs;.

| | |
CH, CH; OH

change can be done by.

A. acid catalysed hydration

B. oxymercuation-demercuation

C. hyrdroboration-oxidation

D. any method mentioned above

Answer: B

This

o Watch Video Solution

alec. | KOH HBr eroxide CH;Na
15.CH, CHCH, "=/ KO8 g TBrl/perodds p CHNg

|
Br

In the above reaction sequence, the final product is:


https://dl.doubtnut.com/l/_anXhK9ReTahK
https://dl.doubtnut.com/l/_qgHKfcWQeWX4
https://dl.doubtnut.com/l/_r6hNlF6VKGVj

A. diethyl ether

B. 1-methoxypropane

C. isopropyl alcohol

D. propylene glycol

Answer: B

o Watch Video Solution

16. Sodium teritary butoxide forms ether only with:

@) (}X

B.CH; — X

A

CH
|
C.H;C — CH — CH;

X

|
D. HsC — C|H — CHs

CH,


https://dl.doubtnut.com/l/_r6hNlF6VKGVj
https://dl.doubtnut.com/l/_CaaGJu1ieO1u

Answer: B

° Watch Video Solution

17.1n the give reaction

H,;C : y
3 c=cn—ciy = }::(;'; O X,
H;C
OMe
A H;C — lC’ — CH, — CHj
o,
OMe
B.H;C — C — C|H2 — CH;
o
CH;C—- C —CH,— CH;
o
D.H;C — OH — CH, — CH;
o,
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CaaGJu1ieO1u
https://dl.doubtnut.com/l/_jNx0ElGT8zLk
https://dl.doubtnut.com/l/_cUaEyyjT36uW

18. Complete the following reaction

H3C H3C__
C—CH,—CHj, S /C\—-/CH—CHz,
f H;C
H;C 3 0
3¢ OH l(y)
H;C
~
C—CH—CHj
a
H3C OH

A. LiAlH, and NaBH,
. Hy .
B. LzAlTZClg and LiAlH,
. ., Ha
C.LiAlH, and LzAlTZClg

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cUaEyyjT36uW

19. Choose the correct product for the following reaction :

+ HI —— Product,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_INLEqWFoAIbc

20. Complete the following

+HI — (C)
O

(I:H — CIH 2
®) OH 1

A.
CH, —CH
(b)© 2 —CH;
OH

B.
o e
| OH

C.

D. None is correct

Answer: A

reaction

o Watch Video Solution

21. Which of the following reactions is possible?


https://dl.doubtnut.com/l/_mWMrhyALhm3w
https://dl.doubtnut.com/l/_r0pBHTXBmVY3

A 06H5OH + HBr — 06H5B’T' + H2O

B. (CH3),CCl + NaOCH; — (CH;),COCH; + NaCl

C. @7 C14+CHONa —2,
.

~ a

H,0"
@ N/ :+C6H5M|;Br;+c6“sc“2c\(c“1)z
D OH

Answer: D

o View Text Solution

22, Complete the

i) CH,;MgCl
H,C—CH, —
\/ (11) H,0

0

A CH;CH,OH
B. (CH;),CHOH

C.CH3;CH,CH,OH

following

reaction


https://dl.doubtnut.com/l/_r0pBHTXBmVY3
https://dl.doubtnut.com/l/_rU1dDNhosaM6

D.HO — CH, — CH, — CH, — CH, — OH

Answer: C

° Watch Video Solution

23.What is Z in the following sequence of reactions?

A

PCl3 ale. KOH (i) Conc. HySO4
> Y 5
(4t ) H20boil

A H,C = CH — CH, — OH
B. CH;CHOHC H;
c. (CH;CH,)COOH

D.CH,CH = CH,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rU1dDNhosaM6
https://dl.doubtnut.com/l/_Pr4suzrhU32b

24, Complete the following reaction

(i) CH,=C"
H,C—CH—CH 5 Product

A HsC — CH — CH, — CH = CH, — CHj
|

OMe

B.H;C — CH — CH, — C = C — CH;,
.

C.H;C —CH —CH, — C=C - CH;4
o

—CH—CH—C=C—CH
(d) H3C \o/ 3

Answer: B

o Watch Video Solution

25. Which of the following reagents cannot be used for the oxidation of

1° alcohol aldehyde?

A. PCC


https://dl.doubtnut.com/l/_7ATBajFPSKY9
https://dl.doubtnut.com/l/_QlCHIKe97nFQ

B. Collin's reagent

C. M’I'LOQ

D. M’I’LOZ

Answer: D

° Watch Video Solution

Level 2 (Q.1 To Q.25)

“-——-

A and B respectively:

(-)A= ;Bx
A. g
(hM-
B. o

1.


https://dl.doubtnut.com/l/_QlCHIKe97nFQ
https://dl.doubtnut.com/l/_nKIMnSk37Bpg

Answer: B

° Watch Video Solution

Which of the following is best set of reagents to performs to the above

conversion?

A ThO,, A

B. H3 POy, A

C.Conc. HySO4, A


https://dl.doubtnut.com/l/_nKIMnSk37Bpg
https://dl.doubtnut.com/l/_v3PWBeUNEMCm

D. Al,O3, A

Answer: A

° Watch Video Solution

3. Complete the following reaction
|
AL

-+ roduct
/
H
(@)
H
A Hy
H;0H
(b)
HO  Ch,


https://dl.doubtnut.com/l/_v3PWBeUNEMCm
https://dl.doubtnut.com/l/_CCc5uQsnG4CX

M

(¢)
M CH,
C.
(d)
H CH,
D.
Answer: B

° Watch Video Solution

]

|l Mg—Hg Conc.H2804 KMnO,,H®
4.2Ph — C — CH; > > >
H,0 A

The final product is

Ph Ph
|
(@) CH}‘?—C"-CM

OH OH

®) CHy—fi—t—cH,

B. O O


https://dl.doubtnut.com/l/_CCc5uQsnG4CX
https://dl.doubtnut.com/l/_TqD1gwzoQfRc

(©) Ph—ﬁ~—ﬁ—l>h

O O
C.
i
(d) cug_.(f—ﬁ—cu,
D. Ph O
Answer: C

o Watch Video Solution

Mg—Hg Dil.H,SO
5.2Ph — C — CH; I TN Product
I H,0

o

The main product is

(a) Ph—ﬁ——ﬁ—-Ph

A O O

(b) cm-ﬁ—ﬁ—-cm

B. O O

Ph

© Ph—IC—lClJ—CH3
CH; O


https://dl.doubtnut.com/l/_TqD1gwzoQfRc
https://dl.doubtnut.com/l/_WzpZxeAbsrFq

Ph

\

) Ph—ﬁ— ?—cm

O CH,

Answer: C

° Watch Video Solution

CH,

Mc;C—Cl Cly, FeCly ~ HBr,A ) A
AlC]3 7 L4 4 .

6.

The final product A'is:

OCH;
(a)
Me;C
A. 1
MesC~ F ¢l
H
C‘ Me;C Cl
Hj
Br Cl1


https://dl.doubtnut.com/l/_WzpZxeAbsrFq
https://dl.doubtnut.com/l/_SoQ1AKJFiIkh

Answer: C

o Watch Video Solution

H

Br, + H,0 . NaOH NH3
p or (HOBr) ~ 7 — Product
H;C »

7.

The product is

(a)
A
H,N
Hmm
H;C it
. HO

e
C. (© PhsP=CHCH,CH; ; ByHg, H,0,, OH

D. (@ PhyP = CHCH,CH; ; H,SO,, Hy0

Answer: A


https://dl.doubtnut.com/l/_SoQ1AKJFiIkh
https://dl.doubtnut.com/l/_zUNdbkrXd4oh

° Watch Video Solution

8. Which of the following sets of reagents would accomplish the following

conversation

O

I e
QC—CH3~—> O—CH~—EH—CH2CH3
H

A (a) CH3CH,CH,MgBr ; H® / H,0, PCC,CH,Cl,
.

B (b) CH3CH,CH,MgBr; H® / H,0 ; H,S04, A; PCC,CH,Cl,
.

M
(¢)
H CH,
C.
(d)
H CH,

D.

Answer: C



https://dl.doubtnut.com/l/_zUNdbkrXd4oh
https://dl.doubtnut.com/l/_WTHPTDl9FEhB

| o Watch Video Solution

9. An organic compound A (Molecular formula CgH1504) on treatment
with Na metal liberates H, gas and on treatment with HIO, gives 2
moles of CH3;CHO, HCOOH(1mole) and CO5(1mole). Find the

structure on A.

CH—OH
(!3H’OH
|
(a) (CH2)2
CH—OH

o

CH,
N\CH—OH

CH—OH
(b) CH,
CH—OH

CH,—OH


https://dl.doubtnut.com/l/_WTHPTDl9FEhB
https://dl.doubtnut.com/l/_1nRsF97b8ob7

CH—OH

Answer: D

o Watch Video Solution

10. An organic compound A (Molecular formula CgHi204)does not

change the colour of acidic dichromate solution. Compound A on


https://dl.doubtnut.com/l/_1nRsF97b8ob7
https://dl.doubtnut.com/l/_tce4V3ikAy3I

treatment with HySO, produces alkene, which on oxiative ozonolysis
gives a molecule (CgH1(0O3) which gives positive iodoform test. Find the

structure of 'A.

(a) D——ocm

H

A

(b)

CH;

(©) & MEiOH
o
d)  Dew,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tce4V3ikAy3I

3
N / H Conc. HB
o C——"C\ __C_)_n_%____l; Product

H;C

H
VI S
C ‘13(3{12 & sCH;

Conc. HB
o yc On}-—)r Product
OH :

H;C

1.
-OH group is substituted by -Br. The slowest step is dehydration. Which of
the following is correct comparison of rate constant K1 and K»?

A ki =k

B.k1 > ko

C.k1 < ke

D. cannot be predict

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Vjlj1XIluIAN
https://dl.doubtnut.com/l/_ZaeuNeASBjOP

K,CrrO: : : iA]
C,}»l,zozmﬁ"o’ o CgHy0p SHIOR I o A Cyom
H™/H0 H0
1%
12. ‘3{“3

The molecule A in the sequence reaction is

() ‘j]/\/\on

A 0O
H
(b) \\( \)\\‘Q()
B. H
iH
(© Ty
C OH

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ZaeuNeASBjOP

H, G

NH- ™~
A —ie 0

13.

The product A and B respectively:

CHy oy H,C% OH
(a) A= HzN’% B= ‘j(
A on N OH
HiC, oH N; ;CH3
(b) A= ( iB= \
B NH, OH

C.
HN_ (CHy N3 (CHj
d) 4= \i B= Y
D OH OH
Answer: C

HN,

- U

o Watch Video Solution



https://dl.doubtnut.com/l/_dx3MpTIq8G6U

Product A and B respectively :

nRerse
A

oaa-()
B

(C)A=Q ;B=Q
C.

“@
D.

Answer: C

| e


https://dl.doubtnut.com/l/_UzRiec5T00jZ

I & Watch Video Solution

15. Complete the following

)
O H,
0 S

=
A  HO” 07 W

B.CH3CH, — — OH

(c) Q
=

C. 0" ©OH
0
(d )/\(
5, HO

Answer: A

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_UzRiec5T00jZ
https://dl.doubtnut.com/l/_jfK6OYH3hrQs

16. The releative rate or acid catalyssed dehydration of following alcohols

would be:
CH;
(P) Ph — lC’ — CH — CH3s
o
CHj
(Q) Ph — |C’ — CHy — CHy, — OH
CH;
(R) Ph — — C|H — CH,CHs
o
CH3
Ph — — C‘H — CH,OH
o

AR>P>8>Q

BR>S>P>Q

CP>R>S8>Q

DR>S>Q>P

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jfK6OYH3hrQs
https://dl.doubtnut.com/l/_OeteNU2pD7Qs

17. Which of the following alcohols will show positive iodoforms test?

OH
A.CH; — CH — CH, — NO,
OH OH
B. CH, —ClH—CHZ ¢ _on
OH

|
c.ICH, — CH — CH,CHs

D. None is correct

Answer: C

° Watch Video Solution

18. In the given reaction

CH,

O( BiHs  TCl  MeycOk® 5
H,0, SOH - ~ B

(4)

The product B is:


https://dl.doubtnut.com/l/_OeteNU2pD7Qs
https://dl.doubtnut.com/l/_dwnDPGN7bXh2
https://dl.doubtnut.com/l/_H2ISBjzQOe5r

A.Ildentical to B

B. Chain isomer of A

C. a positional isomer of ‘A

D. reduced product of A

Answer: C

o Watch Video Solution

[8)

y Product

sOCl, Mg
o Pyridine, A" E©,0
H,OH

The final product is :

19.

5
4

H®



https://dl.doubtnut.com/l/_H2ISBjzQOe5r
https://dl.doubtnut.com/l/_i4SgKdmsTMhP

(d)\ k OH
0

Answer: B

D.

° Watch Video Solution

20.

The final product is :

OH
A.

| OH
B.


https://dl.doubtnut.com/l/_i4SgKdmsTMhP
https://dl.doubtnut.com/l/_YYxXwK28vMgG

C.
D. H
Answer: C

° Watch Video Solution

CH,OH
S H®/H,0 _
21.

The final product is :

(a)
OH
A.


https://dl.doubtnut.com/l/_YYxXwK28vMgG
https://dl.doubtnut.com/l/_LHHPTfVLU2Wa

(b)

H

B.

HO
C.

(d)

H
D.
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LHHPTfVLU2Wa

22.

The final product is :

0
(a)
H
A.
0 H
of)
B.
OH OH
c.
O
(d)
H
D.

Answer: B

[


https://dl.doubtnut.com/l/_WwT4B6CKlpGW

l ) Watch Video Solution

23.

The final product is :

~
w()
A 0
o ()
O
o)
o
b o)*/ﬂ\kou


https://dl.doubtnut.com/l/_WwT4B6CKlpGW
https://dl.doubtnut.com/l/_m6r1UHUzSbOe

Answer: C

° Watch Video Solution

CH==CH,

24,

The final product is :
CH,CH;
® D<OCH CH
A 2 3
() QCHZCH3

B. OCH,CH;

CH,CH;

? CZx
H,CHj

CH,CH,
(d)

OCH,CH,

CH;CH;OH’
H,804



https://dl.doubtnut.com/l/_m6r1UHUzSbOe
https://dl.doubtnut.com/l/_eSL4gPVYfhrz

Answer: A

° Watch Video Solution

AAA

OH

25.

The final product is :

0)
0 XY
J

Bl’2

>
CH;NO,



https://dl.doubtnut.com/l/_eSL4gPVYfhrz
https://dl.doubtnut.com/l/_XaqFHTcybNcB

(d)

Answer: A

o Watch Video Solution

Level 2 (Q.26 To Q.50)

— OH  (one. H,S04 y (CH3CO),0 5 KMnO4OH >
A i’ AlCL, A
HO ~—QOH

The final product is :

CH;

() O

A COOH


https://dl.doubtnut.com/l/_XaqFHTcybNcB
https://dl.doubtnut.com/l/_9yAdLNRmDWFq

COOH

(b)
COOH
B.
COOH
(c)
COCH 3
C.
COCH,
(d)
COCH,4
D.
Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_9yAdLNRmDWFq

| + CH;CH,OH —<1

O

2.

The final product is :

OCH,CH;

(a)
A. O

CH,;—O—CH,
oY
B. (¢]
o1
O™ NOCH,CH;4

C.
o),
D. 0" “CH,—0—CH,
Answer: C

o Watch Video Solution

3. Which of the following reacts fastest with HBr?


https://dl.doubtnut.com/l/_UfFjqLkPELWR
https://dl.doubtnut.com/l/_iKKOFH7ep1I9

CH,0OH

_Q_

(a)
A NO,
CH,0OH
B Cl
CH,OH
0
C.
CH,0OH
(d)
OCH;
D.
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_iKKOFH7ep1I9

4.The order of reactivity of the following alcohols towards HCl is :

F/_<OH Ff\(fu j)/H pv Vo

1 2 3 4

Al>2>3>14
B.1>3>2>14
C4>3>2>1

D.4>3>1>2

Answer: C

o Watch Video Solution

5.The order of solubility of

) 0) o)
C/ \CH3 H3C/ \H H5C2/ \H

I Il I

H;

Al>II>1II1


https://dl.doubtnut.com/l/_UTLPKikVi3Pa
https://dl.doubtnut.com/l/_97MDWnEQt4eP

B.I <II <III

CII >1III >1

D.II > I > III

Answer: C

° Watch Video Solution

6. Degydration of the following alcohols will be in order:

Oron Oron Do Oy
1 2 3 4

Al<2<3<4
B.4<3<1<2
C4>2>1>3

D.1>3>4>2

Answer: C

f


https://dl.doubtnut.com/l/_97MDWnEQt4eP
https://dl.doubtnut.com/l/_IxlFDO9lsRbD

| ° Watch Video Solution

7. Which of the following reactions
configuration?

Me

@ H oH -Na, CHiBr,

A Et

Me

® H on T, Con.

Me
© H on FCl _CHONa
C. Et
Et
Ph
SOCl, KON

(d H .' OH

D CH;

Answer: A

proceeds

with

retention of

° View Text Solution



https://dl.doubtnut.com/l/_IxlFDO9lsRbD
https://dl.doubtnut.com/l/_xsGgqGhT1VC7

8. Find out correct product of reaction:

LI,

HBr
(Excess) ’

B OH Br
Br Br
C.
Br oH
D.
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1bIf2yGAYj6S

Complete the

H
CI—O—BT Mg/ether%

@ Br-OCH;OH

®) c l‘QC}QOH
© HOH2C~<>CH2—-OH

(d) OHC*Q»CHO

CHO
HGB

A

N

Answer: B

following

A, A1

reaction

S

° Watch Video Solution

cold KMnOi y

CrO

3>B,AandBare:

7

oy

CTO3
> B, A and Bare
AcOH

10.

coldKMnQy
> A

AcOH


https://dl.doubtnut.com/l/_3dNMwX5jInXa
https://dl.doubtnut.com/l/_Se6l5YW6kUXt

(@) (:60}{ s (:\501{

OH (6}

(b) Cﬁox—x , \i\/i

OH (6]

(c) , @OH
OH 0

Answer: A

° Watch Video Solution

1.

(MnO (2)) Product


https://dl.doubtnut.com/l/_Se6l5YW6kUXt
https://dl.doubtnut.com/l/_8I2XvY6RJ3YJ

OH

Me
|
© H | on FCly CHiONa

C. Et

(d) @

Answer: C

o Watch Video Solution

12. Complete the following reaction

OH Conc. H;S0,

A > Major product :



https://dl.doubtnut.com/l/_8I2XvY6RJ3YJ
https://dl.doubtnut.com/l/_vD4t8Kty7QHo

D. None of these

Answer: B

° Watch Video Solution

I, + NaOH @
2 sA+B P 5c-2,D

13.

Identify product D in this reaction


https://dl.doubtnut.com/l/_vD4t8Kty7QHo
https://dl.doubtnut.com/l/_VHegZUDvSpL6

(2)

(b) OH

C.CHI,

O O

o

Answer: A

D.

° Watch Video Solution

14.In the given reaction

@—o-—-cuzcu, _HH0 (P)

P will be:


https://dl.doubtnut.com/l/_VHegZUDvSpL6
https://dl.doubtnut.com/l/_GiMQGD6NYaKd

w( pon
A
, 0
e
C.

) O-cnr-—ou

Answer: B

° Watch Video Solution

O O
CH;

15.

X' will be

HOH®
> X



https://dl.doubtnut.com/l/_GiMQGD6NYaKd
https://dl.doubtnut.com/l/_OUbmx8rpcbQT

A. Ho" © OH

® m
0~ CHy CHyYo

B.
Mc
«© H‘—LOH PCl;_CHiONa,
C. L
D. All of these
Answer: A

o Watch Video Solution

16. Complete the following

MnO, CH;CH,0K .
OH 2, TR, Major product :
CH;CH>OH

o

w @KOA
A

reaction


https://dl.doubtnut.com/l/_OUbmx8rpcbQT
https://dl.doubtnut.com/l/_aLJsKPcuXyIt

Answer: B

o Watch Video Solution

1. Pb (OAc)4

2. OH/H;0

17.

X' will be


https://dl.doubtnut.com/l/_aLJsKPcuXyIt
https://dl.doubtnut.com/l/_xdlHEUXQfF0d

(a)
A. O

o [
Il Il

(b) O—C—(CH;);—C—(CHy)—COOH

(o]
i 1

C (¢) HO—(CH,);—C—-(CH2);—C—OH

o
I
D (d) HO—(CH, );-—C-—(CH,)4—CH,OH

Answer: C

° Watch Video Solution

O O

ll
$NH—C—CH, Jr~iH—-~C——CH3
g NuNHy() (7 j
w A

18.

The above reaction is known as:

A. Clemmensen reduction

B. Birch reduction


https://dl.doubtnut.com/l/_xdlHEUXQfF0d
https://dl.doubtnut.com/l/_TBIVyGvKSplv

C. MPV reaction

D. Wolff-Kishmer reaction

Answer: B

° Watch Video Solution

19. In the following reaction

\Q @
H-O
¢ "~ % Product

The main product is:

N OH
(@) | [

JOH
>

() S

A
B.


https://dl.doubtnut.com/l/_TBIVyGvKSplv
https://dl.doubtnut.com/l/_ZbG2X7phIg4L

C.
QH
| OH
XNV
AN
@ ¢ y
N
D.
Answer: B

° Watch Video Solution

7

B
H3 OH 1'2. CC].4>

20.

The major product obtained in this reaction is:

CH3 CH;BI’

(a) C O

A


https://dl.doubtnut.com/l/_ZbG2X7phIg4L
https://dl.doubtnut.com/l/_rsNHK6gg9cR9

CH3 Br

® ¢ 0;

B.

Br
C
() Br

CH, Br
/“\‘(/Br
d
D. @ «u()H

C

Answer: A

° Watch Video Solution

CH; CH;

Conc.H-SO
Ph Ph =,

21 OH OH


https://dl.doubtnut.com/l/_rsNHK6gg9cR9
https://dl.doubtnut.com/l/_rBkBQuebyDUr

Ph

(a) Ph—C ‘]L -CH;

CH,

O=0

H
(b) Ph—C— C“‘“l‘,,

I
B . CH K

0
|

—Q

0 CH,
(¢) CHz-—C~—i-—Ph

C. Ph
ﬁ Ph
(d) CHy—-(C- ._.\l....__ Ph
|
OH
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_rBkBQuebyDUr

22, Complete the following
(’)H OH

COIIC.H;SO4 .
\ 7

A.

O ,
(b) )L%
B. ‘

)

© )%\
H

D. None of these

Answer: A

reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_jpgr85H9XB0j

23. Complete the following

0
(a) N
A.
0
(b)
B.
0
I
© <
C. \‘/
O

reaction


https://dl.doubtnut.com/l/_jpgr85H9XB0j
https://dl.doubtnut.com/l/_5MO7YY0e9EBZ

Answer: B

° Watch Video Solution

24, Complete the following
OH OH
Ph CH3 -—-—I’I?i——)
H H
OH O
(a) Phjt—/-[\
A H
O

reaction


https://dl.doubtnut.com/l/_5MO7YY0e9EBZ
https://dl.doubtnut.com/l/_JJtBBZEQ7rXT

H
(d) Ph/H(

O

Answer: C

° Watch Video Solution

25, Complete the following reaction
CH;
OH  H,s0, .
OH
CH;
CH;
o(X
A. CH;

CH,
(b) D%%


https://dl.doubtnut.com/l/_JJtBBZEQ7rXT
https://dl.doubtnut.com/l/_c73sabRmpF6W

X
0)

Answer: B

° Watch Video Solution

Level 2 (Q.51 To Q.75)

1. Complete the following reaction

/\"\___ Conc. H3POy
OH 3 >

(a) NS


https://dl.doubtnut.com/l/_c73sabRmpF6W
https://dl.doubtnut.com/l/_dVKxHghcxlmR

(b) N\

© =

D. None of thses

Answer: C

o Watch Video Solution

2. Complete the following

OH
Conc. H 2504\

A I 4

reaction


https://dl.doubtnut.com/l/_dVKxHghcxlmR
https://dl.doubtnut.com/l/_64JHVFeH2crm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_64JHVFeH2crm

3. Complete the following

CH,—OH
H®, A
_—
HO—CH, CH,—OH
0 AN
A.
(b) Y \
B.
© ﬁ
C.
Je
D.
Answer: D

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_Rl6wwsJklUtg

4. Complete the following

ﬁOH Conc. HQSO.; .
A '

Answer: C

reaction


https://dl.doubtnut.com/l/_hfp48bBxw3RH

° Watch Video Solution

Complete the following reaction
Conc. H2304
—-—-——————-—*
A
(a)

OH


https://dl.doubtnut.com/l/_hfp48bBxw3RH
https://dl.doubtnut.com/l/_H02ObYsDDW6I

OH

o

OH
()
C.
OH
(d)
D.
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_H02ObYsDDW6I

6. When ethylene glycol is heated with oxalic acid in this presence of conc.

H,50,, the product formed is:

o O
oY
A 0" o
O o O
B. o” 9 Yo

C. O
0
d 0
()] HO' o
D. 0
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3YOStxyTywjY

7. An organic compoun having molecular formula C5HgO does not react

with 2,4-dintrophenol hydrazine and does not react Na metal. The

compound is expected to be:

A CH;CH,CHO

B. CH;COCH;

C.CHy, =CH —-CH, - OH

D.CH, = CH — O — CH,

Answer: D

o Watch Video Solution

8. Which of the following statements is correct?

A. Phenol is less acidic than ethanol

B. Phenol is more acidic than ethanol

C. Phenol is more acidic than p-nitrophenol


https://dl.doubtnut.com/l/_CuTPzxYv5JTI
https://dl.doubtnut.com/l/_YDpcO7q7MFrF

D. Phenol is more acidic than acetic acid

Answer: B

o Watch Video Solution

9. The vapour of an alcohol X are passed over Cy heated at 300°C

whereby an alkene is formed as prduct . The alcohol X is expected to be:

A. ® /\OH

® *OH
© Ph/k/OH

(d) —+—OH

Answer: D


https://dl.doubtnut.com/l/_YDpcO7q7MFrF
https://dl.doubtnut.com/l/_Idj75atatysD

o Watch Video Solution

’ ’ AlLO;
350°C
OHOH

The major product formed in the reaction is:

1

O
@ AL

Answer: C

f


https://dl.doubtnut.com/l/_Idj75atatysD
https://dl.doubtnut.com/l/_hodZU88JMI2Z

° Watch Video Solution

1.

The major product formed in the reaction is:

A. (CH3)3C — Br + (CH3)3COK —

H,50,
B.(CH3),C — OH —
140°C
Aly04
C. (CH3)3C - OH —
240°C
D. overset
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hodZU88JMI2Z
https://dl.doubtnut.com/l/_V4eOHYCMwSGC

12. When-2-chloroethenol is wanted with dilute NaOH, the major product

formed is:

ACl—-CHy —CHy— 0O —-CHy — CH,; — Cl
B.HO - CHy, — CHy — CHy — CH; — OH

C.HO -CHy, — CHy, — OH

@ \o/

Answer: D

° Watch Video Solution

13. Ethylene glycol

(HOAOH)

on heating


https://dl.doubtnut.com/l/_V4eOHYCMwSGC
https://dl.doubtnut.com/l/_Y2Wgka1VWGh4
https://dl.doubtnut.com/l/_skfIGXPOsu1B

with conc. H, SO, gives mainly:

A (a) HO/—\O/-\OH

6 \y/
© (j}

00

0w

H

D

Answer: C

o Watch Video Solution

14. Which of the following reaction would give the best yield of t- butyl

methly ether ?


https://dl.doubtnut.com/l/_skfIGXPOsu1B
https://dl.doubtnut.com/l/_43zdu84gjNdS

H>S0.
A.(CH;),C — OH —=5
140°C

B. (CH3)3C — Br + CHgOH —

S]
C. (CH3)3C — Br + CHgONa —

S
D. (CH3)3C — CK + CH?,B’I" —

Answer: D

o Watch Video Solution

15. Consider the following reactions:

NaOH NaoH
CH3—CH2—6—XA———>B,B+CH2—CH2 — C
\ | HO, | |

Br Br Br Br

The major product formed is:

@ S COH

5 ®87 07 ona

C (c) HO/—\OAOH


https://dl.doubtnut.com/l/_43zdu84gjNdS
https://dl.doubtnut.com/l/_drhSaWNt3cj0

D- (d) [Z)

Answer: D

o Watch Video Solution

16. In the

OH
HO\ ~ A A

The major product formed is:

(a) HO
A. MCHZ

H,S0,
4

reaction


https://dl.doubtnut.com/l/_drhSaWNt3cj0
https://dl.doubtnut.com/l/_buhPaRMAenEI

(c)
0O

(d) HO. OH

Moty

Answer: C

° Watch Video Solution

17. The major product formed in the reaction is"

OH

’ Na2C03
( ) 1 + CH;CH I >
(;(/OH 3 2 acetone, A



https://dl.doubtnut.com/l/_buhPaRMAenEI
https://dl.doubtnut.com/l/_QkcyIhXucwQL

D.

Answer: B

o Watch Video Solution

18. Consider the following reaction

> A

HQC =CH - CHQCHQ — OH > B

25°C

The product B is:
Br

@ Br A~

A OH

(b) HOmOmOH

( C) @__/Br

B

C.


https://dl.doubtnut.com/l/_QkcyIhXucwQL
https://dl.doubtnut.com/l/_BWO0DrzSCmFF

Br

(d)

Answer: D

° Watch Video Solution

19. Find out correct product of reaction:

A(a) N\
B.CHy + CHy

©) ~No\
C.

D. CH_(3)CH_(2)OH'

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BWO0DrzSCmFF
https://dl.doubtnut.com/l/_RptWeYNcNlsV

20. The major product X of the reaction
H,S0,

MWNAVH T X

Y\
A. O
O

(b) l ]

) (©) NAA

@ NAA0
D. NN

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lMyf0PVfNGU1

21.In the reaction

"H;C CH;OH
C—CH 2,
H3C> \O/ ? H® )

The product X has the structure"

CHj;

\

A.H3;C — C — CHsOH
|
OCH;

CHs

|
B. H3C — C‘j — CH> — OCHj;
OH
CHs

\
C. H3C — C|7 — CH;s
OCH;

CHs

|
D.CH3C — C — CHs — OCHj;

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3mVrsGV070OA

22. Consider the following sequence of reactions

C
H;C — CH—COOCH; + Br, SN

OH

+ 4 _Ka€Os
acetone

OH

0.
@ @ N\ COOCH;
a

/\/COOCH3

A. o

O.
L
B. O COOCH;,

O
NOWaG
. e
(0]
0 QL,_-
()
D. o

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9ej1hr3LzFyb

23.In the reaction:

A
M€30—0—0H20H3—|— HI —

1 mole

A. Me3C' — OH + CH30H2I
B. MCgC — I —|— CH3CH20H
C. Megc — 1T -+ CH30H2I

D. Me3C' — OH + CH?,CHQOH

Answer: B

o Watch Video Solution

24. Which of the following ethers ethers is the most unreactive to
cleavage with conc. HBr?

A.Ph — CHy, — O — CHj;

B.Ph — O — Ph

OR VAV


https://dl.doubtnut.com/l/_yHCQ8o2bzAZC
https://dl.doubtnut.com/l/_ecq6lg6FyAc4

(@) >—0—<

Answer: B

° Watch Video Solution

| OH

O
f ]< * H® .
——> Major product
25.

Major Product:

O

O
®) DA

B.

A.


https://dl.doubtnut.com/l/_ecq6lg6FyAc4
https://dl.doubtnut.com/l/_EXQsYeOFpFa3

© Kﬁf

C. HO
HO
D.

Answer: C

° Watch Video Solution

Level 2 (Q.76 To Q.100)

1. The product of the reaction is:

O
HS l.KH\

2. H,0'



https://dl.doubtnut.com/l/_EXQsYeOFpFa3
https://dl.doubtnut.com/l/_QL6nDEMjMr5S

OH

(a)

A.

S 0O
o™
B.

. (© Hs o\

OH

(d) HS Y
D. OH

Answer: A

° Watch Video Solution

2. Which of the following reactions will not result in the formatio of

anisole?

@ (O)—on+ ctsso, 0%,
A
g @(O)—on-cmso, 21,


https://dl.doubtnut.com/l/_QL6nDEMjMr5S
https://dl.doubtnut.com/l/_sNWRth9TxMr5

© @-on + CH;N; —
C.

(d) @OH + CHyMgl—>
D.

Answer: D

o Watch Video Solution

3. Consider the following sequence of reactions

HQ,

o
%i p-TsCl y AcOK B KOH
Pyridine ~ AcOH ~~  H0,A

HO H

(a) &
R
H_ OH

%

(b)

O A

D.( £ ) — 2 butanol


https://dl.doubtnut.com/l/_sNWRth9TxMr5
https://dl.doubtnut.com/l/_HlGrnwP5n1C5

Answer: A

° Watch Video Solution

4. Complete the following
O @) ,
A4, - ;Als
O 0
COOH CH,OH
A.ByHg / H,O
B. LiAIH,
C.CH30H /Na
D. P/HI
Answer: A

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_HlGrnwP5n1C5
https://dl.doubtnut.com/l/_7fak2hHyF8hb
https://dl.doubtnut.com/l/_qAJCqo0EA7qk

5. Complete the following reaction

O
O 4
5 10 on
OH
O

A. By Hg
B.LiAlH,
C.Sn/HCI

D. NaBHy

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qAJCqo0EA7qk

6. Complete

OH

D. No reaction

Answer: D

the following

KMnO4

>7

reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_aqMSOGvFPfDM
https://dl.doubtnut.com/l/_3W3z9FrTWsbx

7. The major product formed in the reaction is"

D
Hy0 _

O O/\

(a) , + CH3CH20H
A 0

(b) Q
B HO 0/\

+ N\
c © (ODCHO OH

© )/10/
uo” HO

Answer: C

D.

(?

° Watch Video Solution



https://dl.doubtnut.com/l/_3W3z9FrTWsbx

8. Complete the

HIO,
>C

following

LiAl
1 H4‘D

COOH
OSO4
-l g 20
COOH

P OH
(t HO ] h
(,——- -k
B OH ()H
HO, OH
C. OH OH
SN
o
/
D OH OH
Answer: A

7
€XCCSS

reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_hQWlBiroMi2d

OH
C TsCl LiAlH,
4) Pyridinc_’A > B

Product B of the above reaction is:

9.

N
@ [ |

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ijsOzsKHIT9P

10. Find out the product when compound reacts with NaBHy:

O O

1

H OCH;

O

O
(0]
O
0 @

B. OH

O 0O

0 )ﬁjm

C. OH


https://dl.doubtnut.com/l/_QDRbGiVGbHZN

(o}

(d HOWKOCH;

D. 0

Answer: B

° Watch Video Solution

OH
COOH

- COOH

1.

Find out X:
OH
COOH
(a)
A.
0O

,COOH
(b)
B.

KzCl‘zO’;A

(X)



https://dl.doubtnut.com/l/_QDRbGiVGbHZN
https://dl.doubtnut.com/l/_khseheXGxXJO

Answer: C

° Watch Video Solution

12. Complete the following reaction

OH |
4 HY

— Product
L____I \o._J

0]

O

A.


https://dl.doubtnut.com/l/_khseheXGxXJO
https://dl.doubtnut.com/l/_mKVqgJEaYPge

HO

(b) C%:Oj
B.
O
Q@

pp O

(©

C.

Answer: A

° Watch Video Solution

H;CO. OCH;
NaBH,
N
3. O Cl

X, Product is:

~ (X), Product (X) is :



https://dl.doubtnut.com/l/_mKVqgJEaYPge
https://dl.doubtnut.com/l/_VjMusOEypV0v

HO. ,OH
A OH
(b) (P
OH
B.

H,CO OCH;
(©)
. OH
HO OCH;4
(d)
b, OH
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VjMusOEypV0v

O ,(’) o) OH

Et O—gC—CH3 S Rt o—g—@)\

14.
Which of the following is best set of reagents to performs to the above
conversion?

A. LiAlH,

B. NaBH,

C. KsCre0O7

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_nAZKAgH0XzWV

x

CH,—CH,—1

Product of the reaction is:

15.

A Ph— CHy — CHy — SH
B.Ph — CHy — CH, — SH
C.Both of these

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ofsRgQ5VQ3uX

OH
OH

H_ ;
16.
This conversion can be carried out by:
A.H>504 /A, HIO,
B.NalO4, H® /A
C.HIO4, NaBH,

D.H® /De < s, Zn(Hg — HCI)

Answer: C

o Watch Video Solution

17. Which of the following alcohols will show positive iodoforms test?


https://dl.doubtnut.com/l/_E06Laf12Gzo4
https://dl.doubtnut.com/l/_nBh4ZuRelDoM

OH

@ ph/k

B. s

C.CHy — CH, — OH
- OH
@ A
D.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nBh4ZuRelDoM

18 H
H HBr R
CCly4
18. N Ph

Major product obtained in this reaction is:

A. Ph
18
B. Ph
Br
C. Ph
OH
D. Ph


https://dl.doubtnut.com/l/_7hJb7aGhVr10

Answer: B

° Watch Video Solution

O COOC,Hs
LiAlH4
-

19. , Products
of the reaction is:

A. racemic

B. diastereomers

C. meso

D. optically pure

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7hJb7aGhVr10
https://dl.doubtnut.com/l/_0xmdOJN2aZCP
https://dl.doubtnut.com/l/_5k4tLE7PCFMp

20. Reduction of R — CH2OH — RCH3 can be carried out by:

A . LiAlH,

B.Hy — Ni

C.RedP + HI

D. NaBH, / AlCls

Answer: C

o Watch Video Solution

OPh
OPh

HI (excess)

>

21. OPh , which of

the following is major product?


https://dl.doubtnut.com/l/_5k4tLE7PCFMp
https://dl.doubtnut.com/l/_6q53Afuf4cPB

I
(a)
I
A
OH
OH
(b)
5 OH

o)
C.

D. None of these

Answer: A

o Watch Video Solution

22. Which of the following ethers will get hydrolysed by H® / H,O?

0 (@-~0)


https://dl.doubtnut.com/l/_6q53Afuf4cPB
https://dl.doubtnut.com/l/_mzkivaYia5go

Answer: D

° Watch Video Solution

23. Which of the following alcohols will not react with Cu / A

A CH; — CH, — OH
Ph

|
B.Ph—(|3’—OH

Ph
CH3

|
C.H3C — C|J’ — OH
CH;,

OH
(d) Ph—CH
N\CH,


https://dl.doubtnut.com/l/_mzkivaYia5go
https://dl.doubtnut.com/l/_pi2V7raY6QuU

Answer: B

° Watch Video Solution

r\/\Br

24,

(2

e\
- Br
OH
o (I
C.

AgNO;

A

> ‘Y ‘Y 1s



https://dl.doubtnut.com/l/_pi2V7raY6QuU
https://dl.doubtnut.com/l/_ucEjgQxADqjn

(d)

Answer: A

o Watch Video Solution

25. Which of the following can give purple colour with neutral FeCls

OH OH O—CH, OH

COOH

A.ii and iv

B. Il and iii

C.ii and iii

D. iii and iv


https://dl.doubtnut.com/l/_ucEjgQxADqjn
https://dl.doubtnut.com/l/_X9HpB6RqcXNZ

Answer: A

° Watch Video Solution

Level 2 (Q.101 To Q.125)

1.

hydrolsed of
W
e~ O—1+O)
H Cl CH3 in aqueous
acetone gives.
H;C H CH;,
K = CH;0— () } { “ @—NO;:;
H OHCH,
H,C H CH,
L=Hc0—~() % i } @—NOZ,
OH H CH;,

H3C CH3 CH

oo P <D

CH3 OH



https://dl.doubtnut.com/l/_X9HpB6RqcXNZ
https://dl.doubtnut.com/l/_XOWLjDtIwQB2

A.Kand L

B. Only K

C.Land M

D.Only M

Answer: A

o View Text Solution

OH H,SO4 N
CH=CH,

2.

identify 'P' in the reaction:

(0]
l
a —CH
N ”D—C ;


https://dl.doubtnut.com/l/_XOWLjDtIwQB2
https://dl.doubtnut.com/l/_uRFX9qsHwWRt

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uRFX9qsHwWRt

OH

3.

identify 'P' in the reaction:
A
H
o (X
B. H

(c)

C.

CH—CH;

o (T


https://dl.doubtnut.com/l/_Rk1msXcKmZTZ

Answer: C

° Watch Video Solution

Z

H,S0 0, _ H®H0
@+CH3——CH=CH2 =P > Q »R+S

4.

identify 'P' in the reaction:

o}
(a) and)‘k


https://dl.doubtnut.com/l/_Rk1msXcKmZTZ
https://dl.doubtnut.com/l/_ARLmP5GniO3F

Answer: C

° Watch Video Solution

/
@
(\i?H “8(0’:"3:420”* > X5 X s
5.

identify 'P' in the reaction:

OH

H
(1) |

A

HO_ ,OH

(b)

()


https://dl.doubtnut.com/l/_ARLmP5GniO3F
https://dl.doubtnut.com/l/_W4rzF0CO4AxC

(d)

Answer: D

° Watch Video Solution

0

H®H,0 _ HBr Mg HCHO
é + CH;MgBr 0,p 1B g 2y R~ 59 S,
6.

identify 'P' in the reaction:

OH
(a)
A.
OH
(b)
B.

(c) OH


https://dl.doubtnut.com/l/_W4rzF0CO4AxC
https://dl.doubtnut.com/l/_QIi5HF1ExSB5

“ (;Qaﬂ
D. |

Answer: B

° Watch Video Solution

7.1dentify the major product of the following reation:

q Conc. :2304
OH
X

(b)

A
B.


https://dl.doubtnut.com/l/_QIi5HF1ExSB5
https://dl.doubtnut.com/l/_GnBs7yV26gap

(c)

(d)

Answer: A

° Watch Video Solution

8. Find the correct method for the following conversion:

OH Br H

—

(S)
A H, HBr

B. Conc. H2S04, A


https://dl.doubtnut.com/l/_GnBs7yV26gap
https://dl.doubtnut.com/l/_CEjjXhKVDbLI

C.H® HBr

D. None of these

Answer: C

o Watch Video Solution

9. Which combination of reagents will bring about the following

conversion?

O

Br

A. MeMgBT/H®, HQSO4/A, HB’I"/HQOQ
B. MeMgBr /H®, HySO4 /A, HBr
C. MeMgBr /H®, HBr /CCly

D. HBr / H,O2, MeMgBr /| H®


https://dl.doubtnut.com/l/_CEjjXhKVDbLI
https://dl.doubtnut.com/l/_7DR1tDWX9Dcy

Answer: A

° Watch Video Solution

10. Which of the following alcohols will undergo easiest dehgydration?

(a

OH

Wel
O;N

H

® d
Cl

OH

OH

@ @
MeO

A
B.
C.
D.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7DR1tDWX9Dcy
https://dl.doubtnut.com/l/_KqQfOz5pXIVf

11. The reactio of HBr with the followin compound would produce

O

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KqQfOz5pXIVf
https://dl.doubtnut.com/l/_Wa4E7AfeIxqH

12.In the following

M€2C =CH — CH2 — CH = CH2 + 06H5CO3H(].CC_[UiV. ) — X, Xis

(a) /K/\_/
A. Y

"Iy
B.

0O

(c)

@ v
O

(d)

@ N
Answer: C

° View Text Solution

13. The most steam volatile species is:


https://dl.doubtnut.com/l/_XCAUjOV0RFwM
https://dl.doubtnut.com/l/_IOMxQaK29OYh

(a)
NO;

B NO,
OH
0 Ol
O,N NO
OH

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_IOMxQaK29OYh

14. In the Libermann nitroso reaction, change in the colour of phenol
occur as:

A.Brown or red green red deep blue

B. Red deep blue green

C. Red brown white

D. White red green

Answer: B

o Watch Video Solution

15. The alcohol which is most readily dehydrated is:

A. 2-butanol

B. 1-phenyl-1-propanol

O
(c) A/\
. OH



https://dl.doubtnut.com/l/_VqSm98V5GGUD
https://dl.doubtnut.com/l/_vSCRAH7Kma4j

O OH

@ )KOK

Answer: B

o View Text Solution

16. A compound P(C7H3O) is insouble in water, dilute HCl, NaHCOs3
but dissolve in dilute NaOH. When P is treated with bromine water, it is

converted into a compound of formula C7 H;Obr. Compound P is:

OCH,

(a)

OH

(b) CHs


https://dl.doubtnut.com/l/_vSCRAH7Kma4j
https://dl.doubtnut.com/l/_aU7SOXIYYquW

OH

©) CHi,
C.
OH
(d)
Hj
D.
Answer: C

° View Text Solution

17.1n the following sequence of reaction

B CH;0H .
@CH—CH—CH3 + Hg (CH3;CO0), —ﬁﬁ{? X, Xis

(l)H
(a) @—cm—cu—cu,
A.


https://dl.doubtnut.com/l/_aU7SOXIYYquW
https://dl.doubtnut.com/l/_vpeb9mlCFfkj

?H

(b) @cn—cm—cm
B.

P

© @-cn-—cm—c&

C.
T

o) @—CH;—CH——CH;

D.

Answer: C

° Watch Video Solution

O

CH;CO;H
S
(Excess)

18. , Product

of the reaction is:


https://dl.doubtnut.com/l/_vpeb9mlCFfkj
https://dl.doubtnut.com/l/_OxGcAiUZCj1r

(a)

(b)

B.

(c) 0\/:>:o
C.

0

@ ﬁz
H OH

D.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_OxGcAiUZCj1r

19. When is
treated with proton acid, a resonance stablized cation is produced. Which
dience listed below when treated with acid will give the same

carbocation?

OH
A. @ AN

®) //\((/OH
B.

() /\y
OH


https://dl.doubtnut.com/l/_pbUnmto3TlBH

(d) AN

Answer: B

o View Text Solution

20. Which of the following would undergo most rapid hydrolysis with

aqueous to furnish the corresponding hydroxy derivatives?

Cl
NO;

Cl

(b)

NO,


https://dl.doubtnut.com/l/_pbUnmto3TlBH
https://dl.doubtnut.com/l/_tB905CH1MMdu

Cl

NMe2

D. .

Answer: A

o Watch Video Solution

o)
A, 9
o)
OCH;  [;AlH,
H>0

> (A)

21.

Find out 'A' of the reaction:


https://dl.doubtnut.com/l/_tB905CH1MMdu
https://dl.doubtnut.com/l/_Xia3SWl4IGCQ

HQ  OH

(a) Q

CH,—OH
(b)
HQ  CH,OH
(c)
C.

e
D.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Xia3SWl4IGCQ

22. Identify the major product of the following reation:

OH
/\?/ TsCl . _KSH .
% Pyridine - i

H D
SH
(a) ",
A. H D
SH
(b) “n,
B. D

D
(c) N
/\/\< |
C.
D. No reaction

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gECzPCAr988C

23. Find the product of the following reaction with sterechemistry.

H,, Cl
//‘9”/ / NaH
}13(: C::t:>(:-—-(:nnnnﬂl(:}{3

o

W

H u, H
() HyC b;c‘_.CnulllllllCHl
A OH H
H m, H
(b) HyC C>’ZC—C“'”“""H
B. HO CH,
Ha, WCHs
(¢) HyC ==C—C==H
N/
C. 0
////,// //CH3
(d) H,C l>"”(:—-Cuumm\ H
N/
D. ©

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_X70REaUFipxI

24. Select the major product of the following reaction:

O

€
—>

@ 0
D. CHiCH—OCH, CH,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XPjeC9QhzQJu

Level 2 (Q.126 To Q132)

1. What would be the major product of the following reaction?

C_)

CH;O
CH,OH ~

H

OH £ ,Ph
(@) HyC u@___s\/
A. Ph OCH;
CH%,/, OH
(b)  Ph ==2C—ClmmiH
B. OCH, Ph
Ph
QH
(©) H,C u@———@m
C. Ph OCH;

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_uFCYG74AC3hi

2. Find out the major product of the following reaction:

Ph S
CH;CH,0

>

H
OTs

(a) Q—-Ph
A.

b Ph

(®) N H
B.

(c) Ph

OCH,CH;

D. No reaction

Answer: B

| ° Watch Video Solution


https://dl.doubtnut.com/l/_whWXVePgcA84

CH;

®0
NIHIOH PBry =~ KCN | final product
CH;CH, V“H |

3.

CH;
(a) st H

CH;CH; VCN
A. CH;

CH, CH;
N (b) H>C—C<H

CH;
() anll CN
CH;CH, H

H

(d) )%“” CH;
NC

CH,CH,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_whWXVePgcA84
https://dl.doubtnut.com/l/_lcu26oSB3thI

4. What would be the major product of the following reaction?

H;C CH,
CH;  Cone. H;804 R
OH A

HJ 13
CH,

ijﬂ
b, G
écr{
CH; CH3
© ijcnzcm
C.

H, CH

i( CH,

C
(a)
A.
C
(b) 3
B.

C
(d)
D.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_54JKNPR8Kmmm
https://dl.doubtnut.com/l/_SnWmHoV7Xyxw

CHClI3 + NaOH 4 4 B
(Expected) (Unexpected)
5 OH

The unexpected product B is:

(a)
OH
A CHO
B.
CHCl,

C. 0
O
ol
(d) j@
H_Icl OH

OCH,

D.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SnWmHoV7Xyxw
https://dl.doubtnut.com/l/_JN0zN3lEignx

6. The final product in the following reaction is :

Br
H 1. Mg, cthcr_}
| 2. H;0%A
O

H;C OH

2 CE

CH;

A
g (9
B

CH,

MgBr
H
(c) O
C. CH;



https://dl.doubtnut.com/l/_JN0zN3lEignx

(d)

CH,

Answer: A

° View Text Solution

7. How many structure of final products are possible?

Conc. H,SO Bry/CCl
/—< one. Hp804 Bt | - 1B,
OH A

Conc.H,S0, Bry/CCl,
> > C4H337’2

A

A2

B.5

C.6

D.3


https://dl.doubtnut.com/l/_JN0zN3lEignx
https://dl.doubtnut.com/l/_j2LedrSEjfLC

Answer: B

° Watch Video Solution

More Than One Correct (Q.1 To Q.25)

1. Chosse the correct statements regarding the following reaction:

A. Syn addition of -H (from BH3) and -OH (from solution) occur.

B. Syn addition of -H (from BH3) and -OH (from H>0>) occur.

C. The product is optically active.

D. Addition follows anti Markownikoff orientation

Answer: A::C

| - ||


https://dl.doubtnut.com/l/_j2LedrSEjfLC
https://dl.doubtnut.com/l/_kw3gMWAflu18

| @J Watch Video Solution J

| HB
OH —— Product

2.

Which of the following are possible are possible products in significant

amounts?

[\
A. © ‘/:<
(b) {>—-€Br

B.
© | | Br
C N
CHE""“BT
d b=
D.

Answer: B::C::D


https://dl.doubtnut.com/l/_kw3gMWAflu18
https://dl.doubtnut.com/l/_V9bZm1pb6GZJ

° Watch Video Solution

—'__)H:;C/

H OH H

3.
Which of the following represent conditions to perfoem given

conversation?

A. POCl3, pyridine

B. Na — metal, C'Ssheat

Hsc@_sozm
C.

D. CF350,Cl, pryidine, MesCO® K @

Answer: B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_V9bZm1pb6GZJ
https://dl.doubtnut.com/l/_KOoscKOvMGiZ

4. Which of the following alcohols do not give white turbidity on

treatment HCl/ ZnCly?

A.CH3;CH,OH

(b) >~CHZ——OH
B.

CN=C-CH-OH
|
CH;
CH;
|
D.CH; — CH — OH

I
CH,

Answer: A::C

o Watch Video Solution

5. Which of the followin wil give iodoform?

A CH;CH,OH

OH

|
B.CH; — CH — Ph


https://dl.doubtnut.com/l/_KOoscKOvMGiZ
https://dl.doubtnut.com/l/_V0OjmkX3bWLy
https://dl.doubtnut.com/l/_kq0bZe0zxHrn

e
c OH

OH

(d)
D. OH

Answer: A::B::D

° Watch Video Solution

6. which of the following ethers will get hydrolysed by HI?

w (o)
A.

NaSs
B.

Nat¥e
C. .
D. @ @o—@—o—cn,


https://dl.doubtnut.com/l/_kq0bZe0zxHrn
https://dl.doubtnut.com/l/_XWMivPaXPi4N

Answer: C::D

° Watch Video Solution

7. Which of the following reactions are correctly matched?

CH;,
| HI
ACH3 — CH - 0 — CH3 — SN]-
|
CH3
H® | H,0
5.CH; ~ CH ~ 0 ~ CHy —— Sy1
CHs
HI
C.CHs —CH — O - CHs — Sn2
|
CH3

D.CHs — O — CHy -2 Sn1

Answer: A::B::C

° Watch Video Solution

8. Which of the following compounds will give positive Victor Meyer test?


https://dl.doubtnut.com/l/_XWMivPaXPi4N
https://dl.doubtnut.com/l/_VgRyjTJe78JM
https://dl.doubtnut.com/l/_JCcDVVNCSbIP

A CH;CH,OH

CH,
B.CH; — o _oH
ot
C.CH;CH, — I
CH;

|
D.CH; — C — NO,

Answer: A::C::D

o Watch Video Solution

9. Which of the followin alcohols undergo rearrangement during

degydration reaction?

CH,
(8) CH;—C—CH—CH]
A. CH; OH

B. e

C.le2


https://dl.doubtnut.com/l/_JCcDVVNCSbIP
https://dl.doubtnut.com/l/_qbfs97zhuyzo

CH;

(d) Ph—CH—CH—CH;

D OH

Answer: A::B::D

o Watch Video Solution

10. 02H5OC2H5 and

can be
distnguished by:
A aq.FeCls

B. Na metal

C.Tollen's reagent

D. KoCro0O7


https://dl.doubtnut.com/l/_qbfs97zhuyzo
https://dl.doubtnut.com/l/_V60LbdCTABTU

Answer: B::D

o Watch Video Solution

O

11. The ether

when treated with HI produces:

O
A.

Answer: B::D

CH,



https://dl.doubtnut.com/l/_V60LbdCTABTU
https://dl.doubtnut.com/l/_ncxcc0WdcHLJ

° Watch Video Solution

12. Which of the following reactions will give ether as main product?

o ™ o
—_—
A. CyHsBr

Na
B. MesC — OH ——
CsHsBr

Na

C.MesC—-OH ——
CHsCH>CH3>Br

Na
D.CH;CH,CHOH ———
MesC — Br

Answer: A::D

° Watch Video Solution

13. C2 H5 Br can be converted into CoHs — O — C2 Hs by:

A. reacting by C2HsONa

B. heating with moist Ag20O


https://dl.doubtnut.com/l/_ncxcc0WdcHLJ
https://dl.doubtnut.com/l/_N5T5Xfeb38ke
https://dl.doubtnut.com/l/_RDMBYXzRx8SJ

C. heating with dry Ag,O

D. treating with Cy H; M gBr

Answer: A::C

° Watch Video Solution

14.1°,2° and 3° alcohols can be distinguished by:

A.Cu /573K
B. Victor Meyer test
C. ZnCly /HCI

D. B’I"g + HQO

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_RDMBYXzRx8SJ
https://dl.doubtnut.com/l/_aai0FmeB7PJF

15. Alcohols can be replaced by-Cl group by the followin reagents:

A. Cl,

B. SOCI,

C. PCl;

D. HCI + ZnCl,

Answer: B::C::D

o Watch Video Solution

16. Glycerol can be converted to acrolein by dehydration in presence of

A. Conc. HySO,

B.KHSO,

C. CaCl2

D. Anhyd. ZnCl,


https://dl.doubtnut.com/l/_ll61LjJUrpmW
https://dl.doubtnut.com/l/_U2WjvuMhoVNU

Answer: A::B

° Watch Video Solution

17.CH3CH, — OH can be converted to CH;CH>CN by the following

reaction:

A CH;CH,OH + KCN -~

8. CH;CH,OH + HCN —

TsCl KCl

SOCl. KCN
D.CH;CH,OH + HCN === ==

Answer: C::D

° Watch Video Solution

18. Which of the following will oxidise to salt of acid by Bry + KOH?


https://dl.doubtnut.com/l/_U2WjvuMhoVNU
https://dl.doubtnut.com/l/_UgJakw2FWcY6
https://dl.doubtnut.com/l/_InXJP7wTsFcj

A.CH; — CH, — OH

O
CH,

(d) D—CHQOH

D. e

B.

C.

Answer: A::B

° Watch Video Solution

H/™/\H
//\/\l' TsCl NaBr
H;C OH Pyridincﬁ A B

19.
(a) A is H><><H
A. H3C OTs
Bis H><—/\\<Br
B. HiC St


https://dl.doubtnut.com/l/_InXJP7wTsFcj
https://dl.doubtnut.com/l/_P4VIHpC0E6J3

Ais
C. H,C OTs
zis XS
H;C Br
D.
Answer: A::B

o Watch Video Solution

(_?,
Conc. H,SO, 05 OH
) s A o I
A 1 > B A_> C

20. OH


https://dl.doubtnut.com/l/_P4VIHpC0E6J3
https://dl.doubtnut.com/l/_Gh383ziYEyoZ

C.
Cis
P \(O
D.
Answer: A::B::C

° Watch Video Solution

CHy O

PBr, Mg CH:——(“H%()\,)‘—H
Q'OH > ‘4 ﬁB - — ('
Et-O H®H,0

(a) Ais <>~Br
A.

(b) Bis <>—Mg8r
B.

OH

| _CH;
Cis <>—CH~CH
AN

CH;

21.

C.


https://dl.doubtnut.com/l/_Gh383ziYEyoZ
https://dl.doubtnut.com/l/_xQvRd6kyh0Xr

CH;

/ |
Cis O~C}12—C—(7I{3
|

O
D. "

Answer: A::B::C

° Watch Video Solution

OH
COI‘IC. HzSO4

>4 + B
OH

22,

A1is


https://dl.doubtnut.com/l/_xQvRd6kyh0Xr
https://dl.doubtnut.com/l/_WOcsRnEL8Ega

Answer: B::C::D

o Watch Video Solution

23. Find the final product A ,B ,C,D of the reaction and choose correct

option
OH

H,SO B;H
CrO; CHsMgBr | g 2504 | 2 (2) =D
dil. acetone H®H,0 A H,0%



https://dl.doubtnut.com/l/_WOcsRnEL8Ega
https://dl.doubtnut.com/l/_pdECKQbZV2g3

(@ A js

OH

(b) Bis[ﬁ

B.

OH
(©) Cis é
[l

S /
D isk Y
. OH

Answer: C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_pdECKQbZV2g3

OH
24.
Me
(a) A isl/\,<Mc
\A
A O
f\l/Ic
A Me
N
(b) A4 is| i
S
OH
B
Me
Lo
c OH
Me
@ gis| Y
KV\
| OH
Me
D.
Answer: A::C

LiAlIH,

° Watch Video Solution



https://dl.doubtnut.com/l/_7e9d5OHTg3uz

Conc. HI Mg, ether
O > 4 B
(Excess) CO,,H¥/H,0
SoH KMnO,

S

25. - >

~

(@) 4is k/
|
A.
(b) B isC COOH
B. COOH

~">OH
(c) (‘ist

~OH

(/COOH
|
S COOH

Dis

Answer: A::B::C::D

° Watch Video Solution

More Than One Correct (Q.26 To Q.50)



https://dl.doubtnut.com/l/_z0es9l7NhGL1
https://dl.doubtnut.com/l/_LS2yHX6wLV16

S
N/ CHs—C=C ~ CHiyl _ H,Pd-BaSO
O —> A — B 2 4;4, C

A iseo>‘ CH)—C=C—CHj

1.

Bis >_‘CH2—CEC—.CH3

CH;

CH
Cis H;CO s CHs
H >C ¢ <H

CH,

Ci =
is H;CO—CH>C C<H

D CH3

Answer: A::B::C

° Watch Video Solution

HCI . 5 NaHCO;xC MnO;
Hzo 7 7



https://dl.doubtnut.com/l/_LS2yHX6wLV16
https://dl.doubtnut.com/l/_JbxFJVIxAKm5

7
Ais
A.
A isé

-

Bisé

HO
d) ¢ isé
D.

Answer: A::C::D

C.

° Watch Video Solution



https://dl.doubtnut.com/l/_JbxFJVIxAKm5
https://dl.doubtnut.com/l/_9OWjH3QKHKUT

Na/ether

B----—-~a\ /

PCl;
CsH;,0 >
(4) ether Naether
[C——————a >_<
J{alc. KOH
‘_.NaBH4 Hg(OAc¢), BH3-THF
Fe—t 2 S E
H20 ©
3, H202 !O H
A. DsiCH (3)-CH=CH (2)'
B.EisCHy; — CHy, — CHy — OH
C. FisCH_(3)underset(OH)underset(|)(CH)-CH (3)’
D.Bis CH3CH>CI
Answer: A,B,C,D

o View Text Solution

4. Complete the following reaction

1. Mg Br, KOH le. KOH
HyC-=CH—CH,Br ——£ 4 2,p 27, c 2RO
2. HCHO (@)

@
3.uPo



https://dl.doubtnut.com/l/_9OWjH3QKHKUT
https://dl.doubtnut.com/l/_dMyf400IWAgA

Br
|
|

Br

(c) Cis /O
O

C. Br
Br
Cis @
O

Answer: AB,D

D.

° Watch Video Solution



https://dl.doubtnut.com/l/_dMyf400IWAgA

CH; —(CH, )3—CH2MgBr

(1) 4
(i) H30®
B
KzCI‘207
CH;—(CH;)s—C=CH 9, 7 (_1\% (G)
e

nJ g
(M HO | g o
OH |(i) H50

Ph OH

a4

0

(a) Zis/\/\)k

A
B. ) is PhMgBr

C.CisHg*" | HySOy4

MgBr

(d) Kis

Answer: AB,C,.D

| o A mnnr Panrd Ol ekl


https://dl.doubtnut.com/l/_1taUIBcwg5iC

L VICVV ICAL JUIULIVII )

6. Compound A is an optically active alcohol. Treatment with oxidising
agent converts it to a ketone B. In a separate reaction A is treatment with

PBrj, converting it into C. C on reaction with Mg is added to B to yield

MgBr

Identify the
correct option.
A. Ais 2-butanol.
B. Ais 1-butanol
C.Cis 2-bromobutane

D. C is 1-bromobutane


https://dl.doubtnut.com/l/_1taUIBcwg5iC
https://dl.doubtnut.com/l/_G3JutWkMwDUy

Answer: A,C

o View Text Solution

7. Alcohol A (C19H150) is converted into mixture of alkene B and C on
heating with conc. H3 PO,. Catalytic hydrogenation of B and C yields the
same product. Assuming that dehydration of alcohol A proceed without
rearrangement. Alkene B on ozonolysis form cyclopentanone. Identify the

correct options.

(@) 4 isM
A. / H

(b) Bis [:H]
B.

Answer: AB,D

° View Text Solution



https://dl.doubtnut.com/l/_G3JutWkMwDUy
https://dl.doubtnut.com/l/_SsxWX7ip1lnR

8. A compound X' (C14H140) on mild oxidation yields C14H15(Y). If X is
treated with a dehydratingg agent, it loses a molecule of H,O and
resulting product on vigoporus oxidation yields two molecule of benzoic

acid. Identify the structure of X and Y.

@ Vs D\(‘H»‘CH
— 2 2
HO

—Ph

A
OH

B.Xis Ph — C|H— CH> — Ph
0

]
C.yis Ph — C — CH, _ Ph

D. e

Answer: B,C,D

o View Text Solution

9. Compounds A, B and C are isomeric alcohols with formula Cs H120. A

on oxidation given ketone, B gives acid while C is not oxidised, A gives


https://dl.doubtnut.com/l/_SsxWX7ip1lnR
https://dl.doubtnut.com/l/_1p7YXF9lcq4B
https://dl.doubtnut.com/l/_Jc7k7xR9cCF6

test with I, / NaOH. The three isomerice alcohols react with HBr with

decreasing rates C > A > B.Identify A and B.

OH

D. Ol

Answer: A,C

o View Text Solution

10. An optically active alcohol A (csHi60) on oxidation gives B. A on
heating gives C(CsH14) as major product. C on ozonlysis produces

D(C5HgO) and CHs — C — CHs. D on reduction with LiAlH4 gave

j
0


https://dl.doubtnut.com/l/_Jc7k7xR9cCF6
https://dl.doubtnut.com/l/_bxqjhSdF6FFZ

OH

Identify

correct answers.

B 0
DS
A
- (\'Hx
m.\{ >—@l——(~()<m
B.

CH;,

Ais L}—]Lcu:ou
H

C.


https://dl.doubtnut.com/l/_bxqjhSdF6FFZ

Cis

Answer: AB,C,.D

o View Text Solution

1. Compound A (C7Hi4) decolouries Bry in CCly and reacts with
Hg(Oac), followed by ruduction with NaBHj, to produce a resolvable

compound B. A undergoes  redutive  ozonolysis to  give

as one of the

compound


https://dl.doubtnut.com/l/_bxqjhSdF6FFZ
https://dl.doubtnut.com/l/_Z7dJDGcUtAsH

(a) 4 is \’Y\

A

OH

Answer: A,C

o View Text Solution

12. A 3° optically active alcohol CyH;30 'A' on dehydration with conc.
H,S50, produces B(CyHyg) which exists in two stereoisomeric forms.
For ozonolysis of B followed by work up with Zn — H,O produces

CH3; — C — H and C(C;H150. C on treatment with Li AlH, produces
[
0]

D(C;H,0). D on hehydration produced



https://dl.doubtnut.com/l/_Z7dJDGcUtAsH
https://dl.doubtnut.com/l/_CWVmtiozrf6r

/;-,

Identify the correct the correct answers.

(a) Ais C\ CH—CH—CH—OH

OH

(d)y D ls@(” (H;
D. N


https://dl.doubtnut.com/l/_CWVmtiozrf6r

Answer: B::D

° View Text Solution

13. A (C5H150) produces, on reaction PCly from alkyl chloride B and C. B
and C both on reaction with aqueous KOH form alcohol D and E . Both D

and E give iodoform test. Identify the correct answers.

CHy
4 is CH;CH—0—CH
A- Fli;
CisCHy— (“\ 1—Cily
B. 1
C.Cis CH3CH,CH->CI
Eis CH_;—«(!‘H—(‘H:

OH

Answer: A::B::D

° View Text Solution



https://dl.doubtnut.com/l/_CWVmtiozrf6r
https://dl.doubtnut.com/l/_TWv4lwiETaQS
https://dl.doubtnut.com/l/_RsQIW95X8HbH

OH Conc. H>SOy4 .
/}\#X A >: Products can be :
14.

can be

, Product

C.

@ =
D.

Answer: A::B

o Watch Video Solution

15. Among of the following gemdiols which are stable with respect to

corresponding carbonyls:


https://dl.doubtnut.com/l/_RsQIW95X8HbH
https://dl.doubtnut.com/l/_L881RWtmYsxu

OH
|
A 0130|0 —H

OH

OH
F:(’—x'—} CF;
OH

Answer: A::B::C::D

o Watch Video Solution

16. Which of the following reactions are correct

o OH
MW 2Hs  LiAlH, /K/\/OH
A. 0

/()\f,()

) OH OH
%( o %/(
| —_—
B. © H


https://dl.doubtnut.com/l/_L881RWtmYsxu
https://dl.doubtnut.com/l/_FIaofDI6YqHB

o OH
© MOCJ{; NaBH, )\/YOCQHS
C. 0 0

LiAIH,
D.CH; — C = N —— CH;CH,NH,

Answer: A::C::D

° Watch Video Solution

17. Which of the following alcohols will give same alkene on reaction with

conc.

A

o

B.
C.


https://dl.doubtnut.com/l/_FIaofDI6YqHB
https://dl.doubtnut.com/l/_CJtmx9uAlaep

OH
N

Answer: A::B::C

o Watch Video Solution

18. Which of the following reactions would produce same product?

()H

!
/\\ CCly - NaOll
i _——4—————-5

& o

OH

(/Jﬂ\ €O, + NaOH

_______——>
(53]

M HH,0

B.
OH

k'\) CHCl, + Ni\()”
C.

ll H0


https://dl.doubtnut.com/l/_CJtmx9uAlaep
https://dl.doubtnut.com/l/_L1sB61vJ0WUo

OH
@ HCN + ZnCl,
-————-—.--_-—_...__“)
()
H/H,0
D. :

Answer: A::B

° Watch Video Solution

19. Which of the following compound are oxidised by HIO4?

CH-»—OH

L
CH>—OH

A.

(b) (l‘113~ OH
C=0

CH,—OH

(c) H
\(‘:__: 0
CH—OH
CH,—OH


https://dl.doubtnut.com/l/_L1sB61vJ0WUo
https://dl.doubtnut.com/l/_ZXMMSCJ8T0xz

(d) (i:HT —~OH

CH,—NH,

Answer: B::C::D

o View Text Solution

20. Which of the following esterification reactions are unimolecular?

O

“ H® H,0
A. @ CH;—C—OH+CH;0H ——>

C.

@ =
D.

Answer: B::C::D

.Y


https://dl.doubtnut.com/l/_ZXMMSCJ8T0xz
https://dl.doubtnut.com/l/_AJJ5VfXkc0Oe

| ¥ VIEW IEXT Solution

21. Which of the following reaction involve rearrangement?

D)

[ ©
Ph CH30
N i E N

H:C

A

Ph

®) OJW_A_,
B. @

OH

(c) Conc. H2SO4
) : /N —— ———
A

Answer: B::C::D

° View Text Solution



https://dl.doubtnut.com/l/_AJJ5VfXkc0Oe
https://dl.doubtnut.com/l/_sMNl56lYaRrS

22. Which of the following paris can be distinguished by using Lucas
reagent?

7R\
(/" \—CH,—OH. CH;CH;OH

A =

¢ Y—ch—on.  \

— /™
)y AN\ /\OH

OH,

Answer: A::B::C

o Watch Video Solution

23. Which of the following compounds are soluble in NaHCO3?

OH

/
\fé

A. NO:


https://dl.doubtnut.com/l/_fRlKGHLtRzG0
https://dl.doubtnut.com/l/_GPqYuzJzvK4k

B.
NO-
|
'\/5‘
C. )
COOH
(d) ! NO-
i
=
D.
Answer: A::B::D

° Watch Video Solution

24. Which of the following reactions are correctly interpreted?

§ N IsC1 ,_.K_\.” \
A, @O e s s

f HeOAe)s

B OH
RN
B N0, NI I


https://dl.doubtnut.com/l/_GPqYuzJzvK4k
https://dl.doubtnut.com/l/_Cj1nfFawrgcV

CHLCH; 0 CH,
[l AGNOs il
(¢) P Cophy N0y (—(l Ph
|

C. OH CI Ph

@ Neci-on—E N,
\/ (

=/

Answer: A::C::D

o View Text Solution

25. Which of the following reagents can be used for identification of
phenol?

A. Neutral FeCl3

B. NaNO> + HCI

C. (NHy),[Ce(NO3)g]

D. ZnCly / HCI

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_Cj1nfFawrgcV
https://dl.doubtnut.com/l/_cwYXOAWAKq1M

Linked Comprehension Type

1. Althought epoxides do not contain a good leaving group, they contains
a strained three membered ring with polar bonds. Nucleophilic attack
opens the strained three membered ring making it favorable process

even with the poor leaving group.

s o )
(€ )\ " " /Oe———leavmg group
- ///
/( ____L<‘ I 3 ///" ..__Cuulllﬂll
% ‘ Ry
S Nu
Nu

This reaction occurs readily with strong nucleophilic, and with acids like
HZ, where Z is nucleophilic atom.

Reaction with H. O H
LN/HvO H
strong >@< §___<0”
\H

nucleophile H

Nuu,\wph\lu.
opens the
. . 3-membered ring
Reaction with H_ o H HCl H\\ OH |
HZ P T

H H Cl AT
H


https://dl.doubtnut.com/l/_JqhhUY3VT3xk

Find out the correct product of the reaction

CH;

T

O 1 o

2. H50

b
7

nnm:
\ T

/un

ey
e
[

|
C
o

|
“N00sH:


https://dl.doubtnut.com/l/_JqhhUY3VT3xk

Answer: B

o Watch Video Solution

2. Althought epoxides do not contain a good leaving group, they contains
a strained three membered ring with polar bonds. Nucleophilic attack
opens the strained three membered ring making it favorable process

even with the poor leaving group.

"8 Oee—leaving group
AR “my,
pttan (e Ml ey e (C HHHY
- \ /
‘s Nu
Nu

This reaction occurs readily with strong nucleophilic , and with acids like

HZ, where Z is nucleophilic atom.

: . - H
Reactionwith H. O H 9.
CN/H,O  H.
g SN 0, W, o
H CN R

c hile N H
nucleophile H H Nucleophile
u opens the
Reuction with H o H el e oH 3~mer?1hercd ring
HZ > ’ D

H Cl \H
i


https://dl.doubtnut.com/l/_JqhhUY3VT3xk
https://dl.doubtnut.com/l/_XTQW5Je7Nrzz

O "
>/ N\ HCL

What would be the major product of reaction?

A OH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XTQW5Je7Nrzz

3. Althought epoxides do not contain a good leaving group, they contains
a strained three membered ring with polar bonds. Nucleophilic attack
opens the strained three membered ring making it favorable process

even with the poor leaving group.

o O ]
O «——leaving grou
o/ b “, © U
¢ —( ot > = C— C ittty
,//4 N\
v Nu
Nu

This reaction occurs readily with strong nucleophilic , and with acids like

HZ, where Z is nucleophilic atom.

IV o 1 i i
Reactionwith H. O H CNH, O H

N\ Ol
strong >LL< - >_—(H N

cleophile } CN N
nueleopn " " 1 Nucleophile
opens the
Reaction with H_ o H HCl H H\ Ol 3-membered nng
eac N i !
7 X —— N |
" H H o Nl
H
Ph

,/()\ﬂ L n®
/( H—CH—CH, ™ CHLOI
H;C

~
o~

Find out major product of reaction:

Ph_
(a)

C—CH>—Cl,—OlH
H;C -
A.

OCH;


https://dl.doubtnut.com/l/_9SAKT2I1P5yc

Ph. O

: |
CH—Cl—( 11,
He” ‘

B YCH,

(b)

Ol
Ph |

. | ‘
(©) }'w—('ll'—‘(lllz
H3C oClHy

D. None of these

Answer: A

o Watch Video Solution

4.1,2-diols are oxidised to ketones or aldehydes by periodic acid HIO,.
Periodic acid reacts with dipol to form a cyclic intermeditate. The reaction
takes places because iodine is in a highly positive oxidation state, so it
readily accepts electrons. When the intermeidate breaks down, the bond

between the two carbon bonded to the OH group break.

CH, %r H; H _;L\C-‘O
H;C—C-—CH—CHj; i”(im}c-- /C‘fgli——CHg —_— y
H éH O\ijP HiC /CH3
& No co=C +HIO;



https://dl.doubtnut.com/l/_9SAKT2I1P5yc
https://dl.doubtnut.com/l/_9UdxKfHLPHb7

H1O,

Br alc. KOH 0sO
O/ hv2 >4 > B : > ¢

Identify D.

Answer: D


https://dl.doubtnut.com/l/_9UdxKfHLPHb7

o Watch Video Solution

5.1,2-diols are oxidised to ketones or aldehydes by periodic acid HIO,.
Periodic acid reacts with dipol to form a cyclic intermeditate. The reaction
takes places because iodine is in a highly positive oxidation state, so it
readily accepts electrons. When the intermeidate breaks down, the bond

between the two carbon bonded to the OH group break.

CH; CH3 H;C
HIO. N ()
H3C—(—CH—CH; ——5H;C-— (' —CH—CH3; ——— =t
OH - (/J vy H C/
o NP ! CHs
I
o//j \\\\o +0=C + H10;
HO N

H

HOH,C
\(f_:___ 5

?HOH
"HOH
H,OH

HIO;

(Excess) '

Which of the following will not form by above reaction?



https://dl.doubtnut.com/l/_9UdxKfHLPHb7
https://dl.doubtnut.com/l/_KOFbx94VcNI5

AH-C-H
B.CH;OH
C.CO,
10)
I
D.H—-C - OH
Answer: B

° Watch Video Solution

6. 1,2-diols are oxidised to ketones or aldehydes by periodic acid HIO,.
Periodic acid reacts with dipol to form a cyclic intermeditate. The reaction
takes places because iodine is in a highly positive oxidation state, so it
readily accepts electrons. When the intermeidate breaks down, the bond

between the two carbon bonded to the OH group break.

CH, CHs H;C

HI \(;—:-()
Hg('—7‘--—~7<‘H—CH_‘__.Ol> HyC— /('—Q—'QH——CH 3 > S
OH OH Q%P H;C crs
0//,1\\0 v0=C_ + HIO3
HO H

Which of the following compounds will not react with HIO,4?


https://dl.doubtnut.com/l/_KOFbx94VcNI5
https://dl.doubtnut.com/l/_cPkkZ3gfArUa

OH

A OH
OH
“,
&
B OH
¢
(CH3);C 70OH
C.
WOH
(CH3),C “on
D.
Answer: C

o Watch Video Solution

7. Carbon oxygen double bond are easily reduced by NaBH, or LiAlH,.

The actual reducing agent in these reduction is hrdride ion (H*)


https://dl.doubtnut.com/l/_cPkkZ3gfArUa
https://dl.doubtnut.com/l/_ItPMipzyjdBY

O OH

e

—_—(C— —_— e “2()

\/» \" “‘“*“lf“‘ on

The metal hydrogen bond in LiAlH, is more than polar than metal

hydrogen bond in NaBHj. As a result LiAlH, is strong reducing agent
than NaBH,. Esters, carboxylic acids, amides cannot be reduced by
NaBH,

The carbonyl group of amide of reduced to methylene group by LiAlH,

Find the correct product of the following reaction:

O
H,C | _/@/\__ A N, LiAlH,

0
|l
(b) H;C—CH—@ »—C—NH,
N
B. OH

OH 2
>-@\fﬁ\NH

D. No reaction

Answer: C


https://dl.doubtnut.com/l/_ItPMipzyjdBY

o Watch Video Solution

8. Carbon oxygen double bond are easily reduced by NaBH, or LiAlH,.
The actual reducing agent in these reduction is hrdride ion (H )
< T on
He —C— —_— \., Hy0 \ 2]
¢——"—>—C— +0H
A | |
The metal hydrogen bond in LiAlH4 is more than polar than metal
hydrogen bond in NaBHj. As a result LiAlH, is strong reducing agent
than NaBHj,. Esters, carboxylic acids, amides cannot be reduced by

NaBH,

The carbonyl group of amide of reduced to methylene group by Li AlH,4

O

NaBD,
H,0

> X7 Identity X :

, Identify X:


https://dl.doubtnut.com/l/_ItPMipzyjdBY
https://dl.doubtnut.com/l/_pHKML3KeP9Ko



https://dl.doubtnut.com/l/_pHKML3KeP9Ko

Answer: B

o Watch Video Solution

9. Carbon oxygen double bond are easily reduced by NaBH, or LiAlH,.
The actual reducing agent in these reduction is hrdride ion (H*)

O OH

The metal hydrogen bond in LiAlH, is more than polar than metal
hydrogen bond in NaBH,. As a result LiAlH, is strong reducing agent
than NaBH,. Esters, carboxylic acids, amides cannot be reduced by

NaBH,

The carbonyl group of amide of reduced to methylene group by Li AlH,

Q 6)
I / N\ LiAlH; N
CH;—C—CH,—CH—CH, —D—(—)——é Y"; ldentity Y

2

OH OD

A.CH; — cH - CH, — CH - CH,
OH

8.CHy — '~ CHy — CHy — OD

D


https://dl.doubtnut.com/l/_pHKML3KeP9Ko
https://dl.doubtnut.com/l/_lBvAAXC3K8Oc

OD OD
| |

C.CH; — CH — CH, — OH — CHj
OD OD

| |
D.CH; — CH — CH, — CH — CH;,

Answer: D

o Watch Video Solution

10. An organic compound (A) on treatment with CHCl3 and KOH gives
(Y) and (Z) both of which in turn gives the same compound (T) when
distilled with Zn. Oxidation of (T) Yields (S) of formula C;HzO,. The
sodium salt of (S) with sodalime gives (P) which can also be obtained by
distilling (X).

The molecular weight of compound (X) is:

A 122

B. 94

C.106

D. 78


https://dl.doubtnut.com/l/_lBvAAXC3K8Oc
https://dl.doubtnut.com/l/_JH7fgYSm7NCX

Answer: B

o Watch Video Solution

11. An organic compound (A) on treatment with CHCl3 and KOH gives
(Y) and (Z) both of which in turn gives the same compound (T) when
distilled with Zn. Oxidation of (T) Yields (S) of formula C;HgO5. The
sodium salt of (S) with sodalime gives (P) which can also be obtained by
distilling (X).

The compound (T) is

OH
@
A.
B e ~
" T i
| 7 \‘ H
R
Lo ‘


https://dl.doubtnut.com/l/_JH7fgYSm7NCX
https://dl.doubtnut.com/l/_zvH1RoxI9oBC

e
C.
COOH
!
|
l\‘\\
g )
[ N
L
\»_\\“‘f .
D. N
Answer: C

o Watch Video Solution

12. An organic compound (A) on treatment with CHCl3 and KOH gives
(Y) and (Z) both of which in turn gives the same compound (T) when
distilled with Zn. Oxidation of (T) Yields (S) of formula C7;HgO>. The

sodium salt of (S) with sodalime gives (P) which can also be obtained by


https://dl.doubtnut.com/l/_zvH1RoxI9oBC
https://dl.doubtnut.com/l/_gls4lRI72Bp0

distilling (X).

Compounds (Y) and (Z) could be:

H OH
CHO
(@ and
CHO

H

A.

@T(H( andb

B. CHO

}{()

@ b

g\'(K)H L|)
1 AL
S N
@ () and )

ey -
N ~

Answer: B

o Watch Video Solution

13. A tertiary alcohol (H) upon acid-catalysed dehydration gives a product
(1). Ozonolysis of (1) leads to compounds (J) and (K). Compound (J) upon
reaction with KOH gives benzyl alcohol and a compound (L), whereas (K)

on reaction with KOH gives only (M).


https://dl.doubtnut.com/l/_gls4lRI72Bp0
https://dl.doubtnut.com/l/_3hioqt4NrasX

Hyc

(M) = Ph

Ph H

Compound (H) is formed by the reaction of:

0
o ){CH + PhMgBr
A. 3

O

., \
B. 'h )\c'u 7 PhCHMgBr

0
)( + PhCH,MgBr
Ph” “H

C
0 CH;
) RN
D, Ph/OH Ph”” “MgBr
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3hioqt4NrasX

14. A tertiary alcohol (H) upon acid-catalysed dehydration gives a product
(1). Ozonolysis of (1) leads to compounds (J) and (K). Compound (J) upon
reaction with KOH gives benzyl alcohol and a compound (L), whereas (K)

on reaction with KOH gives only (M).

O
H3C Ph

(M) =
Ph H

The structurer of compound (1) is:

Ph (CH;
) (a) H >:< Ph
H;C Ph
5 ; f>:< Ph

Ph e (“;
e
H” NCH.pPh


https://dl.doubtnut.com/l/_dBULW7uhUvE8

Answer: A

o Watch Video Solution

15. A tertiary alcohol (H) upon acid-catalysed dehydration gives a product
(1). Ozonolysis of (1) leads to compounds (J) and (K). Compound (J) upon
reaction with KOH gives benzyl alcohol and a compound (L), whereas (K)

on reaction with KOH gives only (M).

O
H3C Ph

(M) =
Ph H

The structures of compounds ()), (K), and (L), respectively, are:


https://dl.doubtnut.com/l/_dBULW7uhUvE8
https://dl.doubtnut.com/l/_nn2Bl5V5PkEM

@) o o

| I I
Ph — C — CHs, Ph — CHy — C — CH3 and Ph— CH, — C — O°

o o (@)

] ] ]
B.Ph—C —H,Ph—CHy,—C — H and Ph —C — OPK?®

o @) @)

I I I
C.Ph—C —CH;,Ph—CHy,—C —H and CH; — C — OPK®

o o o

I I I
D.Ph—C — H,Ph—C —CH; and Ph— C — O°K®

Answer: D

o Watch Video Solution

16. Alcohols are converted to tosylates by treatment with p-toluence

sulfonyl chloride (TsCl) in the presence of pyridine. This overall process
S) (S
converts a poor leaving group | H | into good one [ T's |. A tosylate is a

good leaving group its conjugates acid p-touence sulfonic acid is strong
acid. Beacuse alkyl tosylates have food leaving groups, they undergo both

nucleophilic substitution and 8 — elimination.


https://dl.doubtnut.com/l/_nn2Bl5V5PkEM
https://dl.doubtnut.com/l/_sB50jVzlHR5b

C“»*C*ﬁ@m—g g

=

poor leaving Tosyl chloride

group (TsCly
I
S A Gy
N
0 &
H
Or
CH;CH:@ 1 Good leaving group
/\ Qa2 ® 9o
NaOCH; + CH:CHy0Ts 22¥s CHyCH,—OCH; + NaOTs
®0
Es
Kom_gﬁ\-‘—cm-/ CoTs 2, H,C=CH, + KOTs
(Alcoholic)

Find the major product of the following reaction:

H:C (“) 00
\///C—-AOH*?'CI— AQ'CH:; Pyridine ~ KCN
CH;CH, (”)
H;C
He 2
\\\/*(‘ N
CH;CH-
A.

CHs— CH=C <“

B CH,
CH;
S _AH
©N -fc\/
C *CHACH;
H,
HiCo 2
(d S0 CHACH,


https://dl.doubtnut.com/l/_sB50jVzlHR5b

Answer: C

o Watch Video Solution

17. Alcohols are converted to tosylates by treatment with p-toluence

sulfonyl chloride (TsCl) in the presence of pyridine. This overall process

S) (S
converts a poor leaving group | H | into good one [ T's |.Atosylate is a

good leaving group its conjugates acid p-touence sulfonic acid is strong
acid. Beacuse alkyl tosylates have food leaving groups, they undergo both

nucleophilic substitution and 8 — elimination.

(0]
CH}C}IZ ‘Fb-m + C]77,7|S!, / \ CH Pyridine

poor leaving Tosyl chioride

group (TsC1)
i
0 @T
H
Or

(‘lh(‘Hr{—QTﬂ T Good leaving group

@2 Sy 1)
NaOCH; + CH:CH, RATLLN CHyCHy—OCH; + NaOTs

. —
& =

Ve \ N E- ®0
KOH + HZCH-YCH>—OTs¥= H,C=CH, + KOTs
(Alcoholic)


https://dl.doubtnut.com/l/_sB50jVzlHR5b
https://dl.doubtnut.com/l/_KCjKwoQks7K6

What would be the major product of the following reactions?

o w
Q_ OH + Ts_ ) Pyrdine  CHyCHONa

e

-
\ \/»—~-()CH:CH3
B. ™

(c) O O

/
C.

i/\ O-—-CH=CH,
D. S cth

Answer: A

o Watch Video Solution

18. Alcohols are converted to tosylates by treatment with p-toluence

sulfonyl chloride (TsCl) in the presence of pyridine. This overall process


https://dl.doubtnut.com/l/_KCjKwoQks7K6
https://dl.doubtnut.com/l/_O0O7tEgspg1I

S) (S
converts a poor leaving group | H | into good one [ T's |.A tosylate is a

good leaving group its conjugates acid p-touence sulfonic acid is strong
acid. Beacuse alkyl tosylates have food leaving groups, they undergo both

nucleophilic substitution and 8 — elimination.

ﬁ
Moo
CH;CHy +OH |+ C_8 @ Pyridi
s +=OH | S CH yridine
- I \= T

|
poor leaving o Tosyl chloride
group (TsCly
I
CH}CHZ—O—|SI©~CH3+ @ +cf
-~

N

) °
H

Or
(‘llx('ngF()Ts} T Good leaving group
@2 /NS ® o
NaOCH; + CHyCH, - -OTs £ CHyCH,—OCH; + NaOTs
N - @O

KOH + HLCH,¥CHs OTs$= HyC==Cl, + KOTs
(Alcohohic)

Idetify the final product of the following sequences of reactions:

7
OH_ TsCl  al. KOH = 0s0, = HIO,
Pyridine ’ 7 ’ ’

(@) U /



https://dl.doubtnut.com/l/_O0O7tEgspg1I

Answer: B

° Watch Video Solution

19. Acid catalysed conversation of 1,22-diol or vicinal, into carbonyl

compound known as pinocaol-pinacolone rearrangement.


https://dl.doubtnut.com/l/_O0O7tEgspg1I
https://dl.doubtnut.com/l/_NqaqOeOOJAw4

T‘H; L"’H; (,H‘; CH3

¢ N\ N\
S C- J\_) </_/-C‘cﬂ N

OH OH Q)H2 ‘\
\~H:O
TH3 'CH3 CH CHz \
/AL s
[—/VI —<:/ Shift >—C
| NOH =~ i
CH; CH;,

Generally more electron donating group migrate during mechanism,
migration of H is faster because of its smaller size.

What would be the major product of reaction?

OH
Ph DIl 1,50,


https://dl.doubtnut.com/l/_NqaqOeOOJAw4

((,) . Ph
L Do
C.
74 Ph
“Ph
D.
Answer: C

o Watch Video Solution

20. Acid catalysed conversation of 1,2-diol or vicinal, into carbonyl

compound known as pinocaol-pinacolone rearrangement.

7 N\

‘H: (I.H; "H; CH}

CH
N we N | 3
O / \\ L_)// N ,7‘*//_\\ -

h__m —_—

OH OH O |

'—H:O

CH; CH; CH (Hz

| | 7\, Ph- \
L OO/4 O\ —
o s Q -
NOH
J~

(,H; CH;

| - @_ﬂm _.-L@
\



https://dl.doubtnut.com/l/_NqaqOeOOJAw4
https://dl.doubtnut.com/l/_mJPoTM7zpfRO

Generally more electron donating group migrate during mechanism,

migration of H is faster because of its smaller size.

OH OH

: : l l : : H@ . LiAlH4 . Conc. H28044\
rd 7 A

In this sequence of reaction final product is"

O
o X
A
OH
/\
AN
B.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mJPoTM7zpfRO
https://dl.doubtnut.com/l/_DMyNjHyhuf3o

21. Acid catalysed conversation of 1,2-diol or vicinal, into carbonyl

compound known as pinocaol-pinacolone rearrangement.

) CH; ({‘H; LI‘H1 CH;
N 7 @ N N
\’\,,(‘" o Ny H N // \\_,C,, L1— /7—\\ _—
OH OH OH { OH, ‘
g |-H-0
(T"H3 CH3 CH; CH;y 1
i/ Ph- /7 N |
—te NN e N
g —/ shit \—/ | ¢ \—
[ NOH =™, OH
| ]
CH;

| CHy
-H® L Ny

, >H;C—C c"r—</ AN N E PR R
P o )\Xj
g

[ \—
L Iék' 0 @
N | xS

Generally more electron donating group migrate during mechanism,

migration of H is faster because of its smaller size.

Which of the following is not correct about this rearrangement?
(O] \\M/#\
A. OR R Cl

B. The carboncation is stabilised by 1,2-shift

C. Migration aptitude for substituentisin R — > H — > CgH;

D. Product of reaction is carbonyl compound.


https://dl.doubtnut.com/l/_DMyNjHyhuf3o

Answer: C

° Watch Video Solution

22. Compound (A) C19H505 is insoluble in ag. NaOH bu not is Na HCOs.

S

|
Treatment of (A) with DMSO | CH3 — S — CH; | in alkali give (B)

C11H140,. Treatment of (A) with strong alkali alone give an isomeric
compound (C). When (A) is reflux with HI, CH3I is obtained, compound
(B) is insoluble in alkali and decolurises Bry /CCly. (B) on treating with
strong base gives (D), an isomer of (B). Ozonolysis (C) of gives (E), Cs HgO
and isomer of vanilline. Ozolysis of (D) gives (F) CqH17O3, which is
identical with product of methylation of vanilline (4-hydroxy-3-methoxy
benzaldehyde).

Structure of compound (A) is:

H3C0/\
@)

OH


https://dl.doubtnut.com/l/_DMyNjHyhuf3o
https://dl.doubtnut.com/l/_evnii1wfsu3b

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_evnii1wfsu3b

23. Compound (A) C19H90 is insoluble in ag. NaOH bu not is NaHCOs.

S

||
Treatment of (A) with DMSO | CH3; — S — CH3 | in alkali give (B)

C11H1404. Treatment of (A) with strong alkali alone give an isomeric
compound (C). When (A) is reflux with HI, CH3I is obtained, compound
(B) is insoluble in alkali and decolurises Bry /CCly. (B) on treating with
strong base gives (D), an isomer of (B). Ozonolysis (C) of gives (E), Cs HgO
and isomer of vanilline. Ozolysis of (D) gives (F) CqH,703, which is
identical with product of methylation of vanilline (4-hydroxy-3-methoxy
benzaldehyde).

Compound (B) is:

0O
-

(a) (D

A. OCHj3

OCH;


https://dl.doubtnut.com/l/_iDkHm9npHxyC

,“_
S

3

3

¢

O OCH:
OCH;

C. OCH}

—

@
o’ T |
D 0 CH: CH=CH:

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_iDkHm9npHxyC

24. Compound (A) C19H90 is insoluble in ag. NaOH bu not is NaHCOs.

S

||
Treatment of (A) with DMSO | CH3; — S — CH3 | in alkali give (B)

C11H1404. Treatment of (A) with strong alkali alone give an isomeric
compound (C). When (A) is reflux with HI, CH3I is obtained, compound
(B) is insoluble in alkali and decolurises Bry /CCly. (B) on treating with
strong base gives (D), an isomer of (B). Ozonolysis (C) of gives (E), Cs HgO
and isomer of vanilline. Ozolysis of (D) gives (F) CqH,703, which is
identical with product of methylation of vanilline (4-hydroxy-3-methoxy
benzaldehyde).

Compound (E) and (F) are respectively:

Ho 0 H )0

' OH [ 0CH:
A. OCH, OCH,

Py (
o (O D
{\O(H
OCH, OH
B.
. H. 0
HAC .\/() Y
1 /()H e
(O] A
‘\H \\( CH-OH
C OH oCH:


https://dl.doubtnut.com/l/_1nBPNowNKmFH

D. None of these

Answer: A

° View Text Solution

Match The Column

Column (1)

OH Column (i1
Y

P. White turbidity vwi
(b) CH;CH,0H ity with HCY/ZnCl,

(¢) CHy — ICH~ ol Q. Violet colour with FeCl,

R. Colour ch
Ph Ange 0f NayCry0,. H®

CH,
!

(d) CHy— ('—-()H S. 15 1O 1, gives bright
A ‘\ yellow ppt.
CH,

° Watch Video Solution



https://dl.doubtnut.com/l/_1nBPNowNKmFH
https://dl.doubtnut.com/l/_Qw8KUDaPJMN5

2.

O
I

Ot

(@) CHy —CU, (‘Hoh(" He— CHACH, %
CH,
0
I HYHL0
b CH; —C—O0—CH—Ph—F——
CH,
CH,
‘ Cone. HI
(¢) CH3CH,—0—C—CH;
1
i
CH,
D
/= 7\
(d) CH; 0—\\J>‘(‘*“O”</_\ NOx

I Involve carbocation
formation

Q. Acyl cleavage

R. Racemic mixture

Hi

S. Product gives

haloform test

° View Text Solution

Fries rearrangement
Claisen rearrangement
Buyer-Viliger’s rearrangement

Pinacole-Pinacolone

N—r

Acid catalysed rearrangement
Concerned with ester
Involve electrophilic substitut

Intramolecular rearrangement

° View Text Solution



https://dl.doubtnut.com/l/_AwRzkxeUQvtF
https://dl.doubtnut.com/l/_QHquwh3Mz3D0

(a) Fries rearrangement
(b) Claisen rearrangcment
(¢) Baver-Villiger's rearrangement
(d) Pinacole-Pinacolone
4. rearrangement

CH3 OH
Conc. H,SO

P. Acid catalysed rcarrangement
0. Concerned with ester
R. Involve clectrophilic substitution

_ Intramolccular rearrangement

(d) Ph—fv—— CH——CH-) —‘CH3 ——-——T—‘")S BlmO]CClﬂar ehm“\
\

o View Text Solution

() Oxidation of 17 alcohol In aldehyde

by [ () ]-HCT-CrOs
N

-

m(fl)}‘:m

5. (d) Oxidation of alkvne into acid

~
<

0.

CKMnOg N O

Collin's reageni

Jone's reagent

PCC

° View Text Solution

a) Identification of1°,2° and 3° Alcohol
b) Identification of1°,2° and 3°Nitroalkane

) Formation of alcohol by anti-Markownikoff’s additioin
d) Formation of alcohol by Markownikoff’s addition

—_~ o~~~

3

)

3L

Oxyme
Cu /3(
Victor
Huydr


https://dl.doubtnut.com/l/_2AJJnaYCdZaE
https://dl.doubtnut.com/l/_jpw9Vt7VFQkT
https://dl.doubtnut.com/l/_P5Fe6gmr0TQo

° Watch Video Solution

7.

((a), Phenol+Neutral FeCls, (P), No reaction), ((b), Phenol Bry(aq.), (Q).
((d), Picric acid + NaHCO3, (S), CO2gas is envoled)

° Watch Video Solution

O Ph
Il ! HE 1,0 )
8. (a) CH; —C—O0— C —Ph———— P. Unimolecular
Ph
CH, O

[ H® H,0
(b) CH;—C —(C—0O—Ph ——— Q. Bimolecular

CH;
CH,
| HY H.0
(¢c) CH;—O0—C —CH; —— R. Alkyl oxygen bond
' | cleavage
CH,
HI
(d) CH;—O0—CH—CH; —— S. Acyl oxygen bond
cleavage

° View Text Solution

Integer Answer Type Problems



https://dl.doubtnut.com/l/_P5Fe6gmr0TQo
https://dl.doubtnut.com/l/_BCJX5JAkn42s
https://dl.doubtnut.com/l/_ui2E2QOnU4fw

1. How many compounds A through G are enol tautomer of 2-butanone?

H OH
OH OH
‘ X ’ )\/ ’ >::/ . )v
(A) B) ' © (D)
OH :
/\/\Oﬁ ) )\/;.’ M\OH :
(E) - ® G)

o View Text Solution

2. Consider the pairs of ethers A through F shown below. To the right of
each pairs is a description of reaction conditions to be applied to each.
One compound of the pair will react more rapidly than the other. Find out

number of reactions in which first ether more rapidly cleaved than


https://dl.doubtnut.com/l/_8CZdbsDPX07v
https://dl.doubtnut.com/l/_dyAV1EI1Ol7f

second.

Ether pairs

Conditions
HiC

(A) @—0——&1((:}13)2 and 7\ O0—cp, Treated with HBrin

— 3 CHy—CN, 40°C
H < -

HiC

(B) >Q~O—C(CH3)3 and Treated with H,S0,
HsC

in CH:CN. 40°C
C ZH S. /TN

- 0—CH;
C;H_<><__)— :
\ Treated with H;S04
/2N ‘_@
0 (Yol w ot

in CH4yCN, 40°C

N—

CH;0 HO o~ Trened i 6
and 1 /2\ aqueous H,SO04,
(D) o oH 07 0CH:
CH(CH3):

) ith 5%
CH(CH3):  Treated with .
and ~Fo” ( aqueous H,S04, 25°C

d Treated with H*/H,0
—0— C2H5 an
@ﬂcmr !

o View Text Solution

3. Find out number of moles of HIO, that will react with following
compund



https://dl.doubtnut.com/l/_dyAV1EI1Ol7f
https://dl.doubtnut.com/l/_S8oYpsXivv4t

CHOH
CHOH

HOH
CHOM
CH,OH


https://dl.doubtnut.com/l/_S8oYpsXivv4t

° Watch Video Solution

How many mole of ‘HI' will

OCH;
OCH

(2d

OCH

lad

react

with

° Watch Video Solution



https://dl.doubtnut.com/l/_S8oYpsXivv4t
https://dl.doubtnut.com/l/_ZUryPPwOlki9

CH,—OH
i=o0

¢ff—0H SHIO,
éH——~OH
CH—OH

5. , Find out

kY
A

the value of 'X'

o Watch Video Solution

6.R — CH, — OH — R — CH, — Cl

find out the number that can be used for above conversion, from the


https://dl.doubtnut.com/l/_mBodqqiIkcnX
https://dl.doubtnut.com/l/_YEAVaQM8Ek3t

following.

HCIl, ZnCl,, PCl3, PCl;, POCl3, SOClsy, NaCl, T'sCl

° Watch Video Solution

7. Identify number of alcohols those will show rearrangement during

dehydration will concentrate HySOy.

o OH
)ﬁ/ e /H/ é/OH
OH oy I

CH,CH;

OH
__OH
U 5 74 \‘\ ~, </‘>/Y ) Q/i\ /%\
—_ ' OH "
/L H ' H,C” | OH

A2
B.4
C.6

D.8

Answer: C

I ° Watch Video Solution


https://dl.doubtnut.com/l/_YEAVaQM8Ek3t
https://dl.doubtnut.com/l/_bTVvWJs0ifJs

8.Find out number of reagents that converts 1( o ) alcohols to aldehyde.

KMnO, | 48 4 v
( A‘;lH 1A » K5Cry04|Dil. H,80, , Ceric ammonium nitrate
(B) ()
'
B oy

H3C~—S~——-CH3 (DMSO) K/ A ‘.H\ Crz():lz , K\//‘\N:X Cr(),

(D) —/ 5 — 2

(E) ®

° Watch Video Solution

9. Find out number of alcohols that can give positive iodoform test.

D I QCH_% @j\/
(a)

(b)

CH;— CH,—OH @— ,—OH d 6

©

° Watch Video Solution

10. How many mole of HI racts with glycerol to give 2-iodopropane?

(e |


https://dl.doubtnut.com/l/_bTVvWJs0ifJs
https://dl.doubtnut.com/l/_N8Yh5rYiYBw8
https://dl.doubtnut.com/l/_BgPoWD8TVKFo
https://dl.doubtnut.com/l/_EsZJBzwTyhiM

| @ \Wwatch vVideo Solution ]

Subjective Type Problems

1. Find out final product of following reactions:

O o

) k_;/l\\ /“\\\ . ’ ) II\IHIJ_? l,!_ H-O

Ol Ol

° Watch Video Solution

2. Find out final product of following reactions:

e -
Br, CH;O  Dil.KMnO, =~ HIO,

vd 7
hv

o Watch Video Solution



https://dl.doubtnut.com/l/_EsZJBzwTyhiM
https://dl.doubtnut.com/l/_4QUwcZcY3IfB
https://dl.doubtnut.com/l/_h6xATbwVWfIv

3. Find out final product of following reactions:

OH

1. Mg, THf
HRBr 2. CO, LiAIH, X NaH .

—>
CH,—I

3. H"/H,0 H,0

° Watch Video Solution

4. Find out final product of following reactions:

OH

A

S()C]Z (‘3!L ONa Bl: 2[\()’\”4 ”: Pd-BdS(.);

—_
C,

° View Text Solution

5. Find out final product of following reactions:

Bry. Av ale. KOH BH. peC
N —_

° Watch Video Solution



https://dl.doubtnut.com/l/_0SBDPWnxW91S
https://dl.doubtnut.com/l/_BTP2f3yDuU2O
https://dl.doubtnut.com/l/_XcJTQjWbiD0p
https://dl.doubtnut.com/l/_qWsvJjSOzddC

6. Find out final product of following reactions:

SOCl NaSH NaOH Ph—CH,-—-Cl
Ph—CH, —OH 2 AL N ERN
or PC13

° Watch Video Solution

7.Find out final product of following reactions:

PBr M
OH 3% g N DOD

THF

A 4

o Watch Video Solution

8. Find out final product of following reactions:

KMnO, =~ GHOH  PhMgBr

SN - > >
OH H® H® /H,0

° Watch Video Solution



https://dl.doubtnut.com/l/_qWsvJjSOzddC
https://dl.doubtnut.com/l/_SdAkbZ8RK03x
https://dl.doubtnut.com/l/_FvcOuHJhTGce

9. Find out final product of following reactions:

/U

% HBr 3 Mg’ A 5 C 5 HGB M A

H0,, kv~ Ether = H®/HOH

7

° Watch Video Solution

10. Find out final product of following reactions:

Oy

ey

Ph-T()\/ HOHO KMoy LA HBr o ale KOH

N

7 Zn—H,0

o Watch Video Solution



https://dl.doubtnut.com/l/_ZYsdqDmlvfTm
https://dl.doubtnut.com/l/_auPLJW86HzHE

